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Week 1: Cash Method
1) Tax Accounting Methods

General principals

Accounting Method Standard: Clear Reflection of income

TP are required to report income for tax purposes in accordance w/ a method of accounting that “clearly reflects income” ( simplicity and consistency

Simplicity ( like cash method for individuals

Consistency: IRS generally favors consistency and thus must approve changes in accounting method 

However, C’s power to require a TP to change its accounting method is not unlimited

RLC Industries Co v. C: The C can’t require a TP to change from an accounting method which clearly reflects income b/c the C considers an alternate method to more clearly reflect income

Tax Accounting v. Financing Accounting

Goals

Financial Accounting Goal: is to provide useful info to management, shareholders, creditors, and others; the major responsibility of the accountant is to protect these parties from being misled

Possible errors in measurement should be in the direction of understatement rather than overstatement of net income and net assets (not a guiding light for IRS)
Tax Accounting Goal: the equitable collection of revenue

Deductions

Accounting principles requires that liability be accrued as soon as it can reasonably be estimated

Tax: deduction be deferred until “all the events” have occurred that will make it fixed and certain

Recognizing Income:

Tax law: income is recognized under “claim of right” “ability to pay” and “control rationales”

Accounting principles may defer accrual until a later year so that revenue and expenses may be better matched 

Uncertainty

Accounting: hospitable to estimates, probabilities, and reasonable certainties

Tax law: can give to no quarter to uncertainty

2) Cash Method of Accounting

Inclusion in Income

Overview

CM TP requires a TP to include income as received and deduct expenses as they are paid

Cash Method v. Accrual method: 

Cash Method: TP includes income only upon receipt

Accrual: includes income when it is earned even if the TP has received nothing

CM is known for being for simplistic

We tax a cash method taxpayer when he receives cash, b/c at that point we have the certainty that he will get the money, and he will have the liquidity to pay the tax.

Note that liquidity is less important than certainty, in that we will often tax a cash method taxpayer even if he does not yet have the liquidity of the cash.
Note: Cash received must represent an item of income

Loans, returns of capital are NOT included in GI

Forgiveness of indebtedness is included in GI but is not current receipt of cash

Who Uses CM: Cash method is used by most individuals, small proprietorships and partnerships and some small corps.

§451(a): CM is the default method of accounting. Unless you are on another method, you include income when it is received.
Included Items

Income items received in the form of property or services as well as cash are included in the year in which received. § 451(a) 

Exam tip: A cash method TP includes a check in income when received, even if it is not deposited and can’t be deposited in that year. 

Ex: TP will include check in the year received and TP will deduct check in year mailed

Exception: If we learn that a check bounced b/c non-sufficient funds before we file tax returns for Y1, we would not include the check in GI in Y1. The rule that a cash method TP includes a check in income when receives is only true if the check is later honored in due course

A cash method TP includes income when received. Even if a TP must refund the money if I don’t complete the job, the TP received the money under a claim of right. The fact that there is a bit of a cloud hanging over it is not enough for a TP to wait to include it 

Irrevocable $: $ irrevocably placed in trust for the benefit of a cash method TP even though the TP has no right to receive the $ until a subsequent year 

Constructive Receipt

Overview: (TP could have received if he wanted to)

Treas. Reg. §1.451-1(a): CM TP includes on the earlier of actual or constructive receipt
Constructive receipt: When an item is made available to the TP, so that he could receive it, but he chooses not to receive it ( AKA when credited to his account, set apart for him, or otherwise made available so that he may draw upon it at any time 

No constructive receipt if the TP’s control of its receipt is subject to substantial limitations or restrictions. Treas. Reg. §1.451-2(a)

Ex: having to drive through a snowstorm to pick up the check would be a substantial restriction on the ability to get it 

CR doctrine requires “essentially unfettered control by the recipient over the date of actual receipt.” 

Whether it was up to the TP’s discretion to turn his back on the income

Examples of Constructive Receipt: 
Interest: Taxation of interest on bank account in the year it is posted to depositor’s account

B/c the interest can be withdrawn at any time

Menard Inc v. C: President/controlling shareholder of a corp made a demand loan to the corp. Though interest was due in 1998, it was not paid or received until 1999. The court held that the interest had been constructively received.

Receipt by Agent: Amounts received by the TP is considered as received by the TP 

Arrangements to Postpone Income: a TP is not considered in CR upon refusing a payment not yet due
Ex: if a T on 12/31 pays rent that’s not due until 1/11 and the LL refuses payment, the LL is not in CR and he is not required to accept the payment before it’s due

CR doctrine doesn’t apply merely b/c the obligor is solvent and would have been willing to pay immediately. 

Important consideration is whether a deferral agreement is made before or after the taxpayer performs on the underlying K

Cash Option Payoffs of Lottery Annuity prizes: §451(h)

If the lottery winner makes an election to accept cash prize through annuity, then he is not taxed on the lump sum of the prize (only taxed as payments are received)

Even though a lottery winner could assign the proceeds for cash, the IRS has ruled that it is not a cash equivalent. It is not taxed under the economic benefit doctrine because the money it not set aside in trust for the taxpayer.
Exam tip: Legal Arrangement entered into, not what could have been negotiated: 

No CR: if the economic deal that the TP makes involves him being paid in a later year, the arrangement to be paid later would not constitute CR

Amend v. C: CM TP entered into a K for the sale of wheat in which he would be paid in the year following the year of sale. C argued that he should be charged with income in the year of sale, not the year of receipt, because the TP could have contracted for payment in the year of sale. Given that the sale arrangement was legitimate, the TP was not in CR of the payment because the TP had no legal right to the funds in the year of sale under the arrangement as negotiated. 
The constructive receipt doctrine does not inquire into what arrangements could have been negotiated; it looks to the legal rights of the taxpayer under the deal as struck, assuming that the deal is legitimate and not a sham.
Economic Benefit Doctrine
Economic benefit doctrine: (TP hasn’t received funds yet, but set aside for TP)
When a cash method TP recognizes income as soon as a payor irrevocably sets aside funds for the TP in a manner that prevents the payor's creditors from being able to reach the amount set aside. 
Funded (amount set aside in a trust or escrow account for the benefit of the EE and beyond the reach of the ER’s creditors

Elements: 

Funds irrevocably set aside for benefit of the TP

Beyond reach of creditors of the holder/payor (very important) 

Exam tip: EBD often applies in cases of money put in trust or escrow. The TP can’t use these as a way to defer taxation w/o giving up the certainty and protection of knowing he will get the $

If it is merely a “bookkeeping entry” on the books of the payor, showing that is earmarked for the recipient, that is insufficient. In that case, there is a risk that the creditors of the payor may take claim to the funds, or that the payor will decide to spend it on something else  
Pulsifer v. Commissioner: cash method TP won the Irish Sweepstakes had a GI inclusion, despite the fact that the TP not received the amount set aside. The TP wasn’t 18 and they could only collect the prize when they were 18 
The TP was taxed in the year he won the prize even though he couldn’t collect until later, b/c he or his heirs were certain to collect the $. All that was required was the passage of time. There were no other uncertainties or conditions. And the money was held for the TP in a trust account

No Economic Benefit Doctrine: Deferred compensation plans
The economic benefit doctrine does not require immediate inclusion if an ER makes an unsecured promise (even if contractual obligation) to pay an EE compensation in a later year, instead of transferring the funds to a trust. Rev. Rul. 60-31.
Mere promise to pay, not represented by notes or secured in any way, isn’t regarded as receipt of income w/in the intendment of the cash receipts and disbursement method

If an ER sets $ aside that will be paid to the EE in a separate trust, if the assets earmarked for the EE remain subject to the claims of the ER’s creditors, then EBD doesn’t apply.

The funds can earn interest for the benefit of the EE ( but b/c under the terms of the trust the assets remain subject to the claims of the ER’s creditors, the EE need not include any amount in GI until the amounts in the trust are paid to him.

ER consequences: ER is taxed on the interest earned by the trust, and the ER may not deduct any amount as compensation until payments are made to the EE. 
This arrangement is known as nonqualified deferred compensation/Rabbi trust (§409A) b/c it is not subject to substantial rules applicable to qualified plans that allow the ER to deduct contributions as made, allow amounts to earn interest tax-free, and protect assets from the claims of creditors.
Cash Equivalent

Cash Equivalent: (a written promise to pay that is equivalent of cash)

Certain intangibles have so clear a value and are so readily marketable that a cash method TP receiving them should not be entitled to defer reporting income

By contrast, other intangibles such as an oral promise to pay, are not marketable and don’t have a clear property flavor

To require a TP to take these intangibles into account as income upon receipt would obliterate the distinction b/w Cash and accrual accounting

Elements: 

A written promise to receive value

The promise needs to negotiable, that is, easy to turn into cash

Promise is freely assignable to 3rd party for value

It is convertible into cash (liquid)

Exam tip: If it was unconditional and assignable, not subject to set-offs, and of a kind that is frequently transferred to lenders or investors at a discount not substantially greater than the generally prevailing premium for the use of money.

Examples: Check (a written promise to pay that is almost as good as cash), a credit card “charge slip” 

Promissory Notes: Treas. Reg. 1.61-2(d)(4): CM TP must include the FMV of a promissory note received in consideration of services. 

A note is considered property and a TP must include the FMV of property in income. The face amount of the note is considered the FMV

Even if a note does not rise to the level of a cash equivalent under the Cowden factors, in a sale/exchange of property (as opposed to payment for services), the TP will have to take the face amount of the note into account at the time of the sale, unless the installment method applies to defer taxation

Cowden factors to see whether a promise to pay is so secure and liquid that it should be treated like cash

Promise to pay; of solvent obligor; unconditional; assignable; not subject to set offs; is of a kind frequently transferred to lenders at a discount not greater than time value of $ discount

Exam tip: Signing a K that someone will pay you $10k after you paint their house doesn’t make that a cash equivalent under Cowden factors. Even if the K is transferrable, it is not the kind which a 3P would buy for cash without some kind of discount for risk
Rev. Ruling 68-606: a deferred-payment obligation that is readily marketable and immediately convertible to cash is properly includable in GI on receipt

Can’t have a cash equivalent in a situation where you could sell the written promise to pay, but only for $.50 on the $ due to the credit risk associated w/ the note. Any discount in a CE must relate only to the Time Value of $/interest component 

Cash Equivalency and Treatment of Checks:

Checks are treated as cash equivalents. If a CM TP receives a check at end of the year, the amount of that check must be included in GI even if a TP receiving a check can’t cash it at that time

Kahler v. C: a check received after banking hours on December 31 Y1 was includable in income in Y1 because property having a FMV had been received. This case indicates that the Cash equivalency test applies

Rev. Rul. 68 – if a check is mailed in Dec but not received until Jan, the payment is not includable until actually received, unless the TP could have received the payment in Dec by appearing in person and claiming the check. 

Rev. Rule 76-2: A check was mailed to TP but he wasn’t home to sign the receipt on Dec. 31, 1974. However ruling held the income was taxable in 1974. The fact that the TP was not home when the check was delivered was not a “limitation or restriction on receipt of the payment on that day” and thus did not bar constructive receipt

Exception: T.C. Memo 1978-12 expressly declined to apply Rev. Rul. 76-3.

Example: If TP told check for services taped to front door but couldn’t get it b/c on vacation then since TP on vacation and not able to pick up the check and there is a substantial restriction on my ability to receive it. Thus, TP would only include the check in income when he returns from vacation. However, if I worked with an assistant or partner and he/she could pick up the check, this would likely change the answer.
Deductions

Overview

GENERAL RULE: expenses are deductible when paid. Reg. §1.446-1(c)(1)(i)

No concept of expenditures constructively made

3 Exception to general rule

Expenses Paid w/ Borrowed funds 

Prepaid expenses

Deposits

Checks: Deduct when check is delivered 
Mailing of a check is regarded as the equivalent of delivery Treas. Reg. 1.170A-1(b)

A TP maintaining a pay by phone account with a financial institution, under which the TP could authorize the institution by telephone to make payments to the TP’s creditors, paid the creditors when the institution mailed a check to creditors, transferred funds to creditors’ accounts, or actually delivered checks to creditors 

Online banking: It is not completely clear when to deduct, but probably when the taxpayer has parted with control and it would be difficult to “undo” the payment.
Expenses Paid w/ Borrowed Funds: 

Credit Cards: Payment w/ a credit card is treated as payment at the time the charge is made, not when the TP subsequently pays the bank

B/c credit cardholder immediately becomes indebted to the bank and cannot prevent the payee from receiving payment, the situation is analogous to the cardholder’s borrowing money from a bank and making an immediate payment to the payee

In the case of most modern credit cards, they are backed by a bank so are considered a borrowing, rather than “store credit” which would just be a promise to pay and therefore not deductible by a cash method taxpayer.
Promissory Notes: Does not constitute payment

No deduction for promissory note b/c there was no cash payment and the giving of a TP’s own note was not the equivalent of cash to entitle the TP to the deduction

Helvering v. Price: The giving of collateral was not payment and did not convert a promise to pay into payment

Test: Whether a note is a payment deductible by a CM TP differs from the test for whether a note is income for a CM TP

A TP can deduct payments on the note as they are made to the bank

But a TP is taxed on the discounted value of the note in the year it’s received

Payment from borrowed funds ( constitutes payment for tax purposes

Exception: if the funds are borrowed from the person to whom the TP makes payment

Davison v. C: TP used borrowed funds from a lender to satisfy the interest obligation it owed to the same lender. Court held a CM TP is not entitled to an interest deduction where the funds used to satisfy the interest obligation were borrowed for that purpose from the same lender to whom the interest was owed.

This is the situation where the TP is “borrowing” additional credit from the same bank to which it already owes interest on another borrowing.  In that case, the TP will probably be treated as though the interest “payment” to that same lender is just a “promise to pay” and nondeductible, unless the lender advances the funds to the borrower or TP with the TP free to do as it wishes with the funds.

Prepaid Expenses

Capitalization: TP must capitalize an expense where the payment of an expense creates an asset w/ a useful life that extends substantially beyond the close of the year in which the expense is incurred, the cash method TP cannot deduct the entire expense immediately

Prepaid expenses generally be capitalized ( thus these TP must prorate the deduction over the taxable years to which the benefits flowing from the expenditure relate
C v. Boylston Market Ass’n: Prepaid expenses must be generally capitalized. There a cash method TP prepaid 3 years of insurance premiums had to allocate that expense over 3 years and deduct a portion in each year

Ex:, I pay 2 years worth of malpractice insurance that costs $200 month, paying a total of $4800. I can only deduct $2400 this year and $2400 next year.

Exception: Zaninovich Rule: An expenditure does not create an asset that extends substantially beyond the close of the taxable year if it does not extend more than 12 months beyond the end of the tax year and thus the expenditure may be currently deducted in full

It is not entirely clear if this means 12 months beyond the date of the expenditure, or 12 months beyond the end of the year in which the expenditure is made. Most people think it is the latter. For example, if you paid 1 ½ years worth on July 1, x1, you could deduct all 18 month’s worth in x1.

Note that once an expenditure goes so far that it violates the Zaninovich rule, it must be pro-rated, and the taxpayer can only deduct the current year’s worth in the year paid. It is not a “free 12 months” rule.

Ex: I pay 18 months' worth of malpractice insurance, $3600, on July 1, x1. I can deduct all $3600 in x1, because the expenditure does not extend more than 12 months beyond x1. However, if I pay 24 months' worth of malpractice insurance, $4800, on July 1 x1, I can only deduct $1200, or the 6 months that relate to x1, in x1.

Because my expenditure “went too far” I can only deduct the x1 piece and none of the x2 piece. This is because the Zaninovich rule is a rule of convenience for the taxpayer.

Deposit v. Deductible Payment

Deposits are NOT deductible when paid

How do you know if it is a prepaid expense or a deposit?

Can the payor (the tenant, the customer, etc) ask for the funds to be returned, or does the payee get to keep the funds in any case? If the payee can keep the funds in any case, it is a prepaid expense.

An expenditure must be a payment as opposed to a mere deposit before it can be deducted

When expenditure can’t be refunded and is made pursuant to a sales K ( not a deposit

Factors for Deposit and not payment

Absence of specific quantity terms; right to a refund of any unapplied payment credit at the termination of the K; treatment of the expenditure as a deposit by the seller; the right to substitute other goods or products for the goods specified in the K; 

the fact that adjustment is made to the K price to reflect market value at the date of delivery is not standing alone conclusive of a deposit 

3 tests before a prepayment for feed (for farmers) may be deducted currently

Expenditure must be a payment for the purchase of feed and not a deposit

There must be a business purpose for the prepayment and not merely a tax avoidance objective 

The deduction in the year of prepayment must not materially distort income

Deduction Rules Applied: RR 76-135: cash method client paid cash method lawyer for legal services with negotiable promissory note. The lawyer immediately discounted the note at the bank and the client subsequently paid the bank. When should the lawyer include / the client deduct?
The client can only deduct as it actually pays the bank – a promise to pay with ones own note is essentially just a promise to pay later. 

The lawyer must include immediately as the note is a cash equivalent. 

Interest and Taxes

§461(g) permits an interest deduction only in the period to which the interest relates

§461(g) attempts to put a CM TP on the accrual method for the interest deduction

Points: amounts a lender requires a borrower to pay, usually on the closing of a loan, in lieu of charging the borrower a higher interest rate on the loan

Points paid in connection w/ a loan generally must be capitalized and are deducted over the term of the loan §461(g)(1)

Exception: §461(g)(2) provides an exception to that rule for points paid on indebtedness secured by the taxpayer’s principal residence and incurred to purchase or improve the principal residence, provided that 
the payment of points is an established business practice in the area in which the indebtedness is incurred and 
the points paid do not exceed the amount generally charged in the area. 
Points paid on home acquisition indebtedness: (§461(g)(2)) If points are pre-paid. If you add them to the loan, you cannot deduct them. Must pre-pay from own savings to deduct 

Limitations:

Must be points on personal residence

Points must have been paid from personal funds, rather than merely withholding them from the loan

Does not include points paid to refinance (these points are not deducted immediately and instead are deducted over the term of the loan) 

Timing: If the requirements of §461(g)(2) are met, the points are deducted in the year in which they are paid.
SALT

Current deduction is not allowable for prepaid or estimated state income taxes unless the payment is required.

Glassell v. C: allowed a CM TP a deduction for prepayment of state income taxes as long as the taxes were actually paid and not merely deposited with the state

3) Employee Compensation – §83 v. §409A
Overview

Under what Circumstances does §83 apply

§83 applies to transfers of property in connection with the performance of services. 
Exam tip: Transfers of property made outside the employment context are not within §83 and are subject to the Economic Benefit doctrine.
Transfer: the acquisition of beneficial ownership in the property. Reg. 1.83-3(a)(1) 
Property:  real and personal property other than either money or an unfunded, unsecured promise to pay money or property in the future. Reg. 1.83-3(e) 
Includes real or personal property or a beneficial interest in assets transferred to a trust or escrow account if the assets are beyond the reach of the transferor’s creditors Reg. §1.83(3)(e)
"In connection with the performance of services." Property is considered transferred in connection with the performance of services if it is transferred in recognition of the performance of, or the refraining from performance of, services. Reg. 1.83-3(f) 
What §83 does if it applies

It controls: the timing of the employee's inclusion; the amount of the employee's inclusion; the employee’s Basis in the property; the characterization of inclusions from the property transferred; the effects of forfeiture of restricted property; and the timing of the employer's deduction for compensation paid to the employee.
Timing of the inclusion

General rule: The employee includes income "in the first taxable year in which the rights of the person having the beneficial interest in the property are: "transferable" or "are not subject to a substantial risk of forfeiture." 
If the property is subject to a substantial risk of forfeiture (Ex: EE has to work at company for 3 years before EE can keep the stock, then the compensation income is reported at the time the restriction lapses ( aka when the EE has no risk of not getting the property
Thus, for EE restricted stock (subject to a vesting schedule), the important date for tax purposes will be the date the stock vests. That is the date when the EE will include the difference b/w the FMV of the property and the amount paid in income

§83 applies to restricted stock (subject to vesting schedule) and thus is not subject to 409A and the important date for section 83 is the vesting date.  
Amounts of §83(a) inclusion

EE’s inclusion = the FMV of the property at the time the property becomes vested – amount EE paid for the property

The FMV of the property is determined w/o regard to any restriction other than a "nonlapse" restriction. 
A nonlapse restriction is a permanent limitation on the transferability of property, which can be enforced against subsequent transferees. 
Ex: A restriction that requires an EE to resell stock to the ER pursuant to a specified formula whenever the EE leaves the employment of the employer. The FMV is determined taking into account nonlapse restrictions, but not other restrictions.
Character of income: Since the amount included is compensation for services, it is characterized as ordinary income. Income from appreciation in the property after the TP includes it under §83 would then be property transaction gain and would be capital gain if it’s a capital asset.

Basis: EE’s basis in the property = value of the property at the time of inclusion under §83

Timing of the employer's deduction: The employer can deduct the employee’s compensation in the form of transfer of property only when employee includes it. §83(h). (Even if ER on accrual method)
§ 83b

§83(a) does not apply if EE makes an election under §83(b)

§83(b) election: In the year in which restricted property is transferred, the employee may elect to include in income the FMV of the non-vested property received (at the time of the transfer) minus the amount the employee paid for the property.
Risk: the EE is ignoring the risk that he might not actually get the stock for example if it’s subject to the limitation that he can’t leave company before Y5 and if the E does then he will technically leave the company before the stock vests
If the EE ultimately doesn’t get the stock b/c it does not vest, the EE cannot take a loss or unwind that previously recognized income 
Character of income: The amount included under §83(b) in the year in which the property is transferred is characterizes as ordinary income

All subsequent appreciation in the property after this initial §83(b) inclusion is taxed at capital gain rates. 

Subsequent appreciation – amount of inclusion in Y1 = $ of capital gain

Why make an §83(b) election? 
To convert ordinary income into capital gain ( which could end up saving a TP money 
In some cases, you might actually pay less under an §83(b) inclusion b/c of the character difference b/w §83(b) and capital gain tax and §83(a) treatment and ordinary income inclusion and tax on the entire appreciation.

EX: If the stock is worth zero at this time, or if he is paying FMV for the stock, it is an easy decision to make this election because the taxable income is zero. However, if the employee was getting stock worth $10/share for free, and it was vesting over two years, and he decided to make an 83(b) election, he would include $10 per share in income on the date of receipt. If he ultimately did not get the stock because it did not vest, he could not take a loss or “unwind” that $10 of previously recognized income.
If I receive stock in x1 that is worth $10/share and will vest in two years, and the stock is worth $30 in 2 years when it vests, I will have $30 of ordinary income at the time of vesting.

If I instead make an 83(b) election within 30 days of receiving the stock, I will instead have $10 of ordinary income at the time of receipt and then any subsequent appreciation is capital gain, and will not be realized until I sell the stock. The fact that the stock is worth $30 when it vests is no longer important.
Stock Options

Special §83 rules if EE receives stock options and not stock

A stock option gives the employee the right to buy stock of the employer at a specified price (referred to as the exercise price) for a specified period of time.
The grant of an option by an ER to an EE is governed by §83 only if the stock option is publicly traded.  Not that the stock is publicly traded, but the stock option

NOTE: an EE CANNOT make a 83(b) election for a stock option because it is not considered to be property for the purposes of section 83. Thus, there is no way to “convert” any of what would be ordinary income into capital gain, as there is with restricted stock.
Nonrecourse Note: transfer of property in exchange for a nonrecourse note is usually treated as an option under the regs, b/c the taxpayer/employee can choose to walk away rather than paying the debt, which is like an option Treas. Reg. 1.83-3(a)(7) Ex. 2
Thus it’s not a transfer of the underlying property

Timing: Treas. Reg. 1.83-3(a)(2) provides that if the amount paid for the transfer of stock is an indebtedness on which there is no personal liability to pay all or a substantial part of the indebtedness (i.e., a nonrecourse loan), the transaction may be treated as the grant of an option to purchase the stock. TP is treated for tax purposes as holding an option to purchase the stock. Rather than the taxation event under § 83 occurring on the date TP acquires the stock, the taxation event will occur when TP exercises his option.
This is the date when the EE will include the difference b/w the FMV of the property and the amount paid in income. The vesting date isn’t important for these cases
§409 Exception: §409A does apply to EE stock options if an EE stock option is “in the money” (that is, its exercise price is less than its FMV at the time of grant), section 409A will require an immediate income inclusion (which is much sooner than the normal inclusion date of option exercise) and impose the 20% penalty tax. (see below)
Advice to ER tip: To avoid this, employers should make sure that the option exercise price is equal to or greater than the stock FMV at the time of grant. For non-publicly traded stock in closely held companies, there are “409A valuation” software programs that can help to determine the stock value. There are also detailed rules in the 409A Regs. that detail accepted means of determining the stock's FMV for purposes of determining whether an option on that stock is in the money.

ER Deduction: ER deducts the value of the options in the year in which it grants the option to the EE

Ex: EE of Growth Company may be given the right to buy Growth Company stock at $10 a share at any time during the next five years. The value of such an option depends on the current and future value of the stock. If Growth Company stock now sells for $12 a share, the employee can exercise the option, buying the stock for $10 a share, then sell it for $12 a share, making a $2 a share profit. 
Here the stock price exceeds the exercise price, the option is said to be "in-the-money." 
Even if the stock now sells for $8 a share, the option has value because the stock price may rise above $10 a share during the five-year period of the option. If the stock price is less than the exercise price, the option is said to be "out-of-the-money."
EE compensation

§409A Overview
§409A states that all amounts deferred under a NONQUALIFIED deferred compensation plan are currently includible in GI to the extent not subject to substantial risk of forfeiture and not previously included in GI, unless certain requirements are met
Nonqualified b/c it is not deferred compensation that the IRC has designed for deferral

§409A requirements to not have to included amounts on nonqualified deferred compensation plan 
Distributions of deferred compensation must be allowed only upon separation from service, death, a time specified in the plan, change in ownership of a corporation, occurrence of an unforeseeable emergency, or disability
Acceleration of benefits is prohibited

The TP elects to defer the compensation before the year in which the year in which they will earn the compensation
Policy: this requirement underscores congressional concern that deferral during or after the provision of services is generally inappropriate b/c the income has already been earned

Violation Consequences:
If the compensation violates §409A, EE must currently include income and a 20% penalty tax applies

§409A and stocks: Applies to any stock OPTION in the money. 

In the money: If the exercise price is < the FMV of the stock at the time of the price. if the stock price exceeds the exercise price in the future
These employee stock options are not Incentive Stock options so will definitely be considered nonqualified options.  The important tax date under section 83 will be exercise date.  If the options are "in the money" 409A will apply to accelerate the taxation to the grant date and also impose the 20% penalty.  
§83 applies to restricted stock (subject to vesting schedule) and thus is not subject to 409A and the important date for section 83 is the vesting date.  
Ex: Kenny’s compensation agreement with Charged Energy Corporation (“CEC”) entitles him to an annual salary of $150,000; in addition, CEC must either pay Kenny additional supplemental compensation of $200,000 or deposit that amount into an escrow account with the Eighteenth National Bank to fund an annuity that will enable Kenny to receive payments when he retires.

Before January 1 of each year Kenny must tell CEC how he wants the following year’s supplemental compensation paid: check made out to him or escrow deposit. Kenny is a cash method, calendar year taxpayer.

Must Kenny include in his income supplemental compensation that is deposited in Eighteenth National Bank? 
This situation is substantially similar to Situation (4) in Rev. Rul. 66-31. Although Kenny does not actually receive the income, it does not appear that the amounts deposited in the bank are forfeitable, so he will have constructively received them. The result is no different than if he had received the check and then deposited it in the bank. Under current law, the amount would be currently includable in gross income under § 83. The interest in the escrow account is property as defined in Treas. Reg. § 1.83-3(e).

The plan meets the requirements of § 409A(a)(4), regarding the timing of the election to defer, but because this problem involves a funded deferred compensation arrangement, current inclusion is required wholly apart from § 409A. Thus, the other requirements of § 409A regarding the timing of distributions and the prohibition on the acceleration of benefits are not relevant. Even though § 409A technically is applicable to funded deferred compensation arrangements, it primarily affects unfunded nonqualified deferred compensation arrangements.

Kenny is required to include interest paid on the amount in the Bank Account - If Kenny is ultimately entitled to receive the interest along with the original deposit and his right to it is not forfeitable, he will be required currently to include the interest income.
Can Kenny’s K be re-written to defer tax? 

Yes, but the necessary rewriting will also reduce the security of the arrangement for Kenny. For Kenny to avoid current taxation the agreement should be rewritten to eliminate the escrow and to provide that that the CEC’s promise to pay the amount in the future is unfunded and unsecured, and that Kenny’s rights against his employer for the promised amounts will not exceed those of a general unsecured creditor. If these changes are made, Kenny’s situation will more nearly resemble situations (1)–(3) in Rev. Rul. 60-31. Section 83 does not require inclusion because an unfunded, unsecured promise to pay is not “property” for purposes of § 83.

Because the contract provides that the election to defer must be made before January 1 of the year to which the deferred compensation relates, the requirements of § 409A(a)(4) have been met. In addition, the agreement must defer receipt until the earlier of (1) Kenny’s separation from service, (2) his disability or death, or (3) a specified date or dates (I.R.C. § 409A(a)(2)), and prohibit acceleration of benefits (I.R.C. § 409A(a)(3)). Furthermore, if Kenny is a “specified employee” as defined in § 409A(2)(B)(i) (generally, an officer, director, or 10 percent shareholder), then the plan also would have to be amended to provide that distributions by reason of separation from service could not be made before the date that is six months after the date on which Kenny retires (or upon his death, if earlier). Although it is premature to raise the issue of the effect of forfeitability under § 83, alternatively, the agreement could provide that Kenny’s rights to the agreed upon amounts are forfeitable under certain circumstances. See Rev. Rul. 80-300, discussed in the context of constructive receipt under Treas. Reg. § 1.451-2(a). Kenny will have to weigh the disadvantages of making these changes to the agreement against the advantage of deferring taxation.

§409A Examples

Before the new year begins, she negotiates that she will be paid her year end sales bonus, which had in the past been paid on December 15, on January 1 of the following year. So, her year end sales bonus for x1 will be paid on January 1 x2. She must include this in income in x1 because she is in constructive receipt of the income then. 

False: Under section 409A, she is required to make the arrangement to defer the income before the year begins. She does so. The IRC and the constructive receipt doctrine do not require a taxpayer to arrange to be paid as early as possible.
Exam tip: if EE compensation at issue – check and see if EE follows 409A 
Before the new year begins, she negotiates that her year end sales bonus, which had in the past been paid on December 15, will be held in an escrow account in her name, to be released on January 1 of the following year.

Should she include in Year 1 or Year 2, and why?

Year 1 b/c of the economic benefit doctrine

What if rather than an escrow account, the employer made an entry on its own books that the year end bonus was earmarked for her, but did not put it in a separate bank account.
Year 2 b/c the economic benefit doctrine doesn’t apply b/c the money has not been unqualifiedly set aside for her in a protected manner 

Week 2: Accrual Method – Inclusion
4) Accrual Method

Overview

Overview


Basic Rule: Include income when it is earned even if the TP has received nothing

Allows expenses to be deducted as they occur

Financial Statements: An AM TP includes an item of income on the earlier of 

Inclusion of the item of income under the all events test or

Inclusion of the item of income on an applicable financial statement

§451(b)(3)(A): “an applicable financial statement” are certified financial statements that are prepared in accordance with GAAP and used for non-tax gov. regulatory purposes
Goal: trying to match income w/ the expenses that help to generate that income 

Trying to get a true picture of taxable income for a particular period 

Who uses Accrual Method

The accrual method is a more accurate measure of income, so most companies use the accrual method to keep their books. 
§448: All corps w/ > $25 million a year of gross receipts must use Accrual Method 

TPs maintaining inventories use the accrual method

Companies using the accrual method of accounting for financial accounting purposes must use the accrual method for tax purposes. §446(a).
Inclusion Rule / All Events Test (Think when is income earned)
Rule

Reg. §1.451-1(a): Includes in taxable year in which all events have occurred which fix the right to receive the item and fix the amount of the item. 
All-Events Test. TPs using the accrual method include items of income "when all the events have occurred that fix the right to receive [the] income and the amount thereof can be determined with reasonable accuracy." Reg. §1.451-1(a).
Element 1: Right to receive income becomes fixed 

When the TP has done all they need to do to receive the income ( when the TP can say they earned this $

TP has right to income under contractual or other arrangement
Can’t have strings attached – not a right the exercise of which must be purchased by the beneficiary w/ the surrender of some other related an valuable right

Escrow: Amounts held in escrow generally are not includable in income by an accrual method TP if the amounts will not be paid until requirements upon which the sale or other transaction is conditioned have been met.

All substantive/material events have occurred

Exam tip: Therefore, if the right to the income depends on one or more future events (including the passage of time), the TP does not include the amount in income until the contingency has been resolved. However, purely ministerial or formal contingencies (e.g., clerk approval/issuance of a check) don’t prevent accrual
Lucas v. North Texas Lumber: sale of real estate income not properly accruable until transaction close and title passes because that’s when no unconditional liability of the purchaser arose. 

Ex: Harmon case: In that case, even though the contractor had completed all of its work, the all events test was not met until the government client reviewed and audited the bill. Normally, we would think of billing a customer or reviewing a bill as ministerial. However, the fact that it was a government contract, which are very favorable to the government client, and the audit is an important and meaningful step is probably why court said AET wasn’t met. If it was a homeowner hiring a contractor for a remodel, it probably would have been different.
Ex: Luis, a calendar-year, accrual-method taxpayer, sells a shipment of artificial carnations to Emily under a contract providing that she will pay for the shipment within 30 days of her receipt of payment from her principal retail florist customer, Frank. In Year One, Luis ships the flowers to Emily and sends her a bill for $30,000. In Year Two, Frank pays Emily. In Year Three, Emily pays Luis. Luis must include Emily’s payment in his income for Year Two. He need not include it in Year One, for he has no right to the income because the contingency (Frank’s payment to Emily) has not occurred. He has the right to the income (which of course can be determined exactly) in Year Two, and payment in Year Three is irrelevant.
Element 2: Determinable with reasonable accuracy: exact amount due to TP need not be ascertainable, but the amount must be determinable w/ reasonable accuracy.

We do not need to know the precise amount to include in income. We just need to be able to determine the amount with reasonable accuracy, and if we are incorrect as to amount, the taxpayer can always adjust (aka deduct) that later.
Doubts about collectability can affect this determination

Georgia School-Book v. C: a co served as a broker for textbooks to state schools in GA had to accrue the commission it earned at the time of the purchase of the books by the state even though the commission would be paid only when the state paid for the books purchased. Despite the fact that the fund earmarked by the state legislature for the purchase of school books was insufficient at the time to pay for the books purchased and thus to pay the commissions owed the TP. The court held that given the assets of the state of GA and its record of fiscal probity, there was no reason to doubt that GA would ultimately pay for the books.

HYPO: TP is a professional consultant and enters a consulting agreement with a client. In December of year one, the taxpayer performs the services. In January of year two, the taxpayer sends the client a bill for $2,000, indicating that payment is due in February. The client fully pays the bill in March of year two.

Under the accrual method, the taxpayer reports the $2,000 of income in her tax return for year one. That's because she rendered performance in year one, and the amount due is ascertainable.

Remaining uncertainties

Regulations provide for accrual on the basis of a reasonable estimate, with the difference b/w the estimate and the exact amount accounted for in the year the latter is determined

If the TP’s right to receive income is definite, uncertainties as to the precise amount won’t preclude inclusion, as long as we can get reasonably close w/ estimates

We do not need to know the precise amount to include in income. We just need to be able to determine the amount with reasonable accuracy, and if we are incorrect as to amount, the taxpayer can always adjust that later.
Exception: Sufficient Doubt exists as to the collectability of income at the time the right to the income arises

interest income was not accruable while “reasonable doubt” existed as to collectability, but when collectability was established, accrual was required

Rev. Ruling 80-361: IRS held that interest income uncollectible at the time the right to it arose did not accrue; by contrast, where interest income was properly accrued, and subsequently became uncollectible, the TP’s remedy lay in the bad debt provisions
.  if the income item is uncollectible at the time it arises, in contrast to becoming uncollectible after it arises but before the end of the taxable year, accrual is not required.

Exceptions to All Events Test

Exception: §448(d)(5) Performance of services
TP need not accrue any portion of amounts to be received for the performance of services that, on the basis of experience, will not be collected. Reg. 448(d)(5)

Exam tip: 448(D)(5) DOES NOT APPLY TO GOODS

Service providers who meet §448(d)(5) are permitted to accrue only the amounts that they expect to be collected
If they are later collected, they are added to income then.
448(d)(5) Rule only applies if the TP either (OR RULE STATEMENT)

Is performing services in one of several specified fields (health, law, engineering, architecture, accounting, actuarial science, performing arts, or consulting) or
Does not exceed $25 million gross receipts test for any prior taxable year

The 5-year period preceding the current tax year will generally serve to determine the accruals that, on the basis of experience, won’t be collected. Treas. Reg. §1.448-2(e), (f)

Ex: if an accrual method surveyor’s experience indicates that only $96k is collected from $100k of billings, when services are provided and invoiced to a particular customer for $100, only $96 must be accrued. The remaining $4 will be included in income upon receipt of payment

Exception: Sale of Goods

Reg. 1.446-1(c)(1)(ii)(C) – a TP engaged in a manufacturing business may account for sales of the TP’s goods/product when the goods are shipped, when the product is delivered or accepted, or when title to the goods passes to the customer, whether or not billed, depending upon the method regularly employed in keeping the TP’s books

Rationale: The TP knows more about his business, to know when the crux of the transaction is complete in that business

As long as the TP is consistent from year to year, it does not matter as much in which year the TP initially chooses to accrue sales income, b/c there will be more sales income in the next year and the next year and the next year

We are less concerned w/ distortions when we have recurring transactions than one time events that may cause a big change/inaccuracy in the picture of a year’s income

Accrual Method and Prepaid Payments

Advance Payments Overview

An accrual method taxpayer must include the income at the earlier of the all events test, or receipt of the income ... unless they meet one of the exceptions 
Rationale: when an accrual method taxpayer is paid in advance of earning the income, we are afraid that by the time it is time to pay the tax (when the money is actually earned), maybe the money won’t be around anymore. The taxpayer may have spent it, and so it won’t be able to be collected by the taxing authorities. Also, the taxpayer enjoyed the benefit of having the money earlier.
This concern is why Schlude and AAA have their outcome. The cases note the concern that the taxpayer may never include the income if we do not tax it upon receipt. (Schlude – what if the customers never show up to get the dance lessons?)
Exam tip: think when payment is made (not when sign the K ( signing K alone isn’t enough for all events test)
Schlude v. C: AM TP are required to include advance payments in income. TP owned a dance studio offering dance lessons where customers made a down payment. the taxpayer wanted to wait to accrue income from dance lessons for which he had already received prepayment, until the customers showed up for the dance lessons. He argued that this created better matching, because the expenses of giving the dance lessons would not occur until later.
Since the services might never be provided and there were no fixed dates of performance, deferred reporting of amounts which were received or which were due was inappropriate.
American Automobile Association v. US
: AAA included in income a portion of annual dues received, but deferred a portion of the dues received and reported it in the following year, on the theory that AAA might be required to perform services for the dues-paying member in the following year. AAA followed GAAP principles
Held: Dues are included, for tax purposes in the year in which they are received by an accrual method TP, even if the dues accrue in a later year for financial accounting purposes (Tax accounting doesn’t have to follow GAAP)
Importance: AAA requires an accrual method TP to use the cash method for prepaid services
Problem: Lose-lose situation for TP. When an accrual method TP performs services before receiving cash, he is taxed as soon as he performs services. When the TP receives cash before performing services, he is taxed as soon as he receives cash
§456: Congress soon enacted §456, which permits membership organizations to include prepaid dues ratably as services are performed. Thus, the holding in AAA v. US no longer applies to AAA to include prepaid dues in the year received (Congress overruled case)

Advance Payment Exceptions (AKA when a TP can defer an advance payment)

Where the time and extent of performance are certain and where income can be properly allocated to performance, deferral of income until the year of performance will be found to reflect income clearly (Artnell)

In Artnell Co. v. C (7th Cir) held that a baseball team was permitted to defer inclusion of prepaid season ticket sales until the year in which the games were to be played since the time for future performance was relatively certain.
Rev. Proc. 2004-34: Income accrues at the earlier of: when performance occurs, when payment is due, or when payment is made. Except if the situations fall within Rev. Proc. 2004-34.
Applies to prepayments for services and service-type properties which are to be rendered no later than the end of the taxable year which immediately follows the taxable year in which the payment is received

Rev. Proc. 2004-34 allows TP in certain circumstances (those received in exchange for services) to elect to defer the inclusion of some or all of an advance payment until the taxable year following the receipt

2004-34 also applies for advance payments received in exchange for: (1)sale of good, (2)use of IP (3)use of property if occupancy is ancillary to the provision of services (e.g., advance receipt for hotel rooms), (4) sale, lease, and license of computer software, (5) guaranty or warranty K ancillary to the above items (6) subscriptions (if no §455 election) (7) membership in org (if §456 not in effect) and (8) a combination of the foregoing items
Rev. Proc. 2004-34 was a “safe harbor.” That means if a taxpayer met the requirements set forth therein, the taxpayer was guaranteed the offered result (in this case, deferral into the second year). However, if the taxpayer did not meet the requirements, it did not mean they could not defer the income. Instead, they would have to qualify for deferral under some other part of the existing law (i.e., fixed dates for performance, or deposit rather than prepayment).
Exam tip: must be advance prepayment for Rev.Proc/451 to apply
However, TP not required to take advantage of Rev. Proc. Safe harbor

TCJA Changes §451 
Deferral and Inclusion Amount for Prepaid payments

General rule requiring accrual-method taxpayers to take advance payments into income in the tax year of receipt (the full-inclusion method).
Exam tip: An advance payment for goods (prepayment) is not covered 
by Rev. Proc. 2004-34. However, the treatment is generally the same under IRC Section 451(c). 
Financial Purposes Deferral: §451(c): TCJA now says an accrual method TP can defer inclusion of certain prepaid income for goods, services, and other specified items if some or all of the prepayment will be included in a later year for purposes of financial accounting purposes 
Limitation: limited to 1 year deferral 

Only applies to prepayments for services and service-type properties which are to be rendered no later than the end of the taxable year which immediately follows the taxable year in which the payment is received
Inclusion amount: In year of prepayment, the portion of prepayment included for financial accounting purposes will also be included in GI

Inclusion Amount In year following year: the TP must include the remainder of the prepayment for tax purposes, regardless of when the rest of the prepayment will be included for financial accounting purposes
Exam tip: The service will issue regulations regarding the types of goods, services, and other items to which the new deferral rule applies. §451(c)(4)(B)

§451(c)(4)(B) specifies various types of prepayments that are not covered by the new rule such as prepayments for rent, interest, and others

Prepaid Rent: AM TP must include prepaid rent in the year he received it 

All Events Test and Deposits

Advance Payments = Included in GI 

Deposit = NOT include in GI

An accrual method taxpayer will not have to include an “advance payment” if it is not actually a payment, but is instead a deposit. This is also true for a cash method taxpayer. If something is a deposit rather than a payment, it does not need to be included in income.
General Test: Does the customer/payor have the right to get the money back? If so, it is a deposit rather than prepayment
The fact that customer can cancel a transaction and get a refund does not make this a deposit. The real test is whether a customer has intended to purchase goods or services with their payment. In this case they have, and the company received the money under a claim of right.
Payment being something for which the payor intends to be used to purchase goods or services, and the presumption/default is that those goods or services have been purchased, unless the payor affirmatively cancels or returns the goods or services.

Usually, with a deposit, it is just a placeholder, and the payor has to take some other action to purchase the goods or services.

Ex: I sign up for a gym membership for the next 18 months and pay $1800. I have great intentions to get in shape. But about 4 months in, I realize I am not going very often and cancel my membership. Suppose that under the contract, the remaining months are refundable to me.

These terms, and the fact that I could cancel my membership for a refund, or the fact that I could buy a sweater and return it to the store where it was purchased, does not make those payments “deposits,” even though I have “the right to get the money back.”

Commissioner v. Indianapolis Power & Light Company: Customers making deposits had the right to control the ultimate disposition of the deposit. They could demand a refund from the company. Utility company only had minimal rights vis-à-vis the deposits. The utility always treated the deposits as belonging to the customer. To determine whether the customer deposits were advance payments, Court examined the nature of the rights and obligations the utility had on receiving the deposits. Focusing on whether the utility enjoyed complete dominion over the deposits, the Court concluded that it did not, since the deposits were subject to an express obligation to repay

The key in determining complete dominion is whether the TP has some guarantee that he will be allowed to keep the money

Exam tip: An advance payment protects against the risk that the purchaser will back out of the deal before the seller performs, whereas the deposit the utility received provided no such protection.
HYPO: HB is a broker that collects 6% commission when broker. Commission is collected at the closing out of the proceeds due to Seller from the amount paid into escrow w/ the closing agent by the purchaser. Purchaser pays into escrow a deposit of 4% of sale price. Deposit is held in escrow account by HB until closer. If purchaser defaults on K, HB keeps 2% of sale price and seller gets other 2%. If purchase closes, the closing agents agent disburses to HB an additional 2% of the closing price and then HB transfer s the entire deposit from escrow into its own account. In Y1, HB held $800k in escrow account. In y2 all sales closed and HB transferred the $800k from its escrow to its own account and received and additional $400k from closing agents. How much does HB required to acrrue in in y1? $400k

Closing Commission: The portion of the commission to be remitted at the closing (1/3 of the 6 percent commission, a total of $400,000) is not required to be accrued prior to the closing because the occurrence of the closing is a condition precedent to HB‘s right to receive that amount. 

Deposit: HB is entitled to receive the half of the deposit even if the buyer defaults —equal to 2 percent of the purchase price, a total of $400,000  -(1) all of the all the events that fix the right to receive the income have occurred, and (2) the amount can be determined with reasonable accuracy.

The remaining one-half of the amount of the deposit (another $400,000) is the portion with respect to which it must be determined whether HB has (1) a contingent claim subject to a condition precedent, i.e., the occurrence of the closing, in which case HB is not required to accrue the amount as income until the closing, or (2) a right that can be divested subject to a condition subsequent, i.e., the nonoccurrence of the closing, in which case HB is required to accrue the amount last year. This situation differs substantially from that in Charles Schwab, where the settlement of the stock transactions was largely ministerial. In this case, the real estate closing is not ministerial. The seller remains the owner until the closing. Real estate contracts typically have numerous conditions precedent before the seller and buyer are required to close. The occurrence of the closing is a condition precedent to HB earning the right to that amount (to be released from its escrow account). Accordingly, HB should not be required to accrue any more than $400,000 last year.

Week 3: Accrual Method - Deductions

5) Accrual Method and Deductions

Overview / General Rule

General Rule

Overview: Income is deductible when the obligation to pay arises
Treas. Reg. §1.461-1(a)(2): An expense is deductible in the year in which

Prong 1: All the events have occurred which determine the fact of liability

All the substantive events ( don’t need all ministerial events

Ex: Doctors are professionals and in a business setting we can treat the filing of claims to be paid as ministerial and thus the all events occurred when the doctors treated their patients

A liability must be fixed and certain, unconditional, or absolute

Accrual of a liability turns on fixing, not the payment of the liability and thus the financial condition of the TP at the time of accrual generally will not bar a deduction

Cohen v. C: where there was no certainty of an AM TP’s ability to pay, the Court held a deduction was proper notwithstanding doubts as to the TP’s ultimate ability to pay

Exam tip: a liability can be certain event if the TP is doesn’t know who will be paid (Hughes Properties)

1. note that the state gaming law, and the fact that the taxpayer was required under state law to distribute a slot machine jackpot of a certain percentage of the revenues to whoever ultimately won, was very important in this case.

2. If the taxpayer had discretion as to how much money to pay out, there would not have been enough certainty to deduct the expense. Moreover, in many cases in which the identity of the ultimate payee is unknown, there would be no one to “enforce” that the liability is paid, so we would not be able to say the liability was fixed and certain. The state law requirement to pay out the jackpot was the key fact here.

A liability contingent upon the occurrence of future events is not “fixed”

Exam tip: we allow estimates and data from past experiences to help determine and support the amount of the deduction, but not the fact/existence of the liability itself. Past experience and/or expectations cannot “prove” that the all events test is met, but it can establish the amount of the expense once the all events test is definitely met
Rev. Ruling 2007-3: All events occurred when (1)the event fixing the liability, whether that be the required performance or other event, occur or (2) payment therefor is due

Whichever happens earliest

Prong 2: The amount thereof can be determined w/ reasonable accuracy

Prong 3: §461(h): Economic performance has occurred w/ respect to the liability

This adds an additional requirement for deductions

Exam tip: §§461(h)(1) and Reg §1.461-1(a)(2) note that the all events test is not met until economic performance occurs.
Economic Performance

Overview

If liability arises as a result of another person providing services to the TP, econ performance occurs as the services are provided to the TP

Exception 1: 3.5 Month Rule Treas. Reg. §1.461-4(d)(6)(ii): the TP may treat econ performance as occurring as the TP makes payment to the person providing the services or property if the TP can reasonably expect the person to provide the services within 3.5 months after the TP makes payment

Ex: pursuant to a K, an AM TP pays $5k on 12/31 Y1 to a window washing service to wash windows for TP in Jan of year 2. Can TP make deduction in y1

Answer: Yes, under 3.5 months rule 

Exception 2: Recurring Item Exception §461(h)(3)(A): liability is treated as incurred for the year if the following conditions are satisfied

Recurring item exception tries to mitigate the mismatch from that Econ performance requirement b/c it may delay a deduction for an AM TP beyond the year in which the income was recorded and creates a timing mismatch of revenue in Y1 but the associated expenses in Y2. 

§461(h)(3): if the TP satisfies these requirements, the TP can take the deduction in the year before economic performance occurs

All events test has been met

The fact of liability has been established and the amount determined w/ reasonable accuracy

Economic performance occurs on or before the earlier of 8.5 months after the close of the year, or the date the TP files a timely tax return

The liability (the deduction item) is recurring in nature

Note: If the liability results from the TP's use of property, econ performance occurs ratably over the period of time the TP is entitled to the use of the property
The TP consistently reports such items under the recurring item exception

TP must keep using recurring item exception unless it gets permission to change

Either: a) The item is not material (Reg. Section 1.461-5(b)(4) – GAAP helpful. If the item is material under GAAP, it is material for tax, but can be material for tax even if not for GAAP) or b) taking the deduction in the earlier year results in better matching of expenses and the associated income (Reg. Section 1.461-5(b)(5))

(Note that under the Regs, the matching requirement is deemed automatically met for: refunds and rebates, prizes and awards, insurance, warranty and service contracts, taxes.)

HYPO: For example, suppose a delivery service signs a lease for a delivery van to start in January x2. The contract is signed in December x1. All events have probably occurred when the contract is signed, because the delivery service is obligated to pay the lease fee. However, economic performance will occur as the vans are used. (in x2). If the taxpayer were to try to take the deduction in x1 under the recurring item exception, that would result in worse matching, because the income from the delivery business would accrue in x2, rather than x1.
Economic Performance for different types of payments/transactions

Economic Performance Occurs when Payment is Made

§§461(h)(2)(C) and Reg. §1.461-4(g)(2) provide that economic performance is not considered to occur until payment is made for the following types of expenses:

workers compensation payments

tort liabilities

breach of contract damages, fines

settlement agreement payments

prize/jackpot/awards

Treas. Reg. 1.461-4(g)(4) interpretation of §461(h), as authorized by §461(h)(2)(D), overrules the Hughes Properties result

Note that this puts an accrual method taxpayer on the cash method for these types of expenses.

Economic Performance Occurs when Services and Property provided TO the TP

For services and property provided TO the taxpayer, economic performance occurs as they are provided. (Pay careful attention to this as it is easy to start thinking that economic performance always occurs “as payment is made.”

However, this service and property provided to the taxpayer is a big category, and the timing is as the services or property are provided). 

Economic Performance Occurs for Use of property

For the use of property (i.e., rent), econ performance occurs as TP uses the property

If the liability results from the TP’s use of property, econ performance occurs ratably over the period of time the TP is entitled to the use of the property

Economic Performance for Services/property provided by the TP

For services or property provided BY the taxpayer, economic performance occurs as the taxpayer provides services and incurs the associated costs.

HYPO: L is an AMTP and owns a music store that sells pianos. With each new piano sale, L agrees to tune the piano annually free of charge for the first five years. L estimates he will incur $100 of out of pocket expense on average over the 5 year period in fulfilling his obligation to each piano purchase. In y1 L sell 50 pianos and thus estimates he will incur $5k in turning expenses over the next 5 years. Can L deduct in y1?

No. Under §461(h)(2)(B), econ performance will only occur as L actually provides the tuning service. Even though the all events test is met the econ performance has not occurred and thus cannot deduct in Y1

Exam tip: Even if the taxpayer hires a 3rd party to perform the services (and even the taxpayer pays in advance for this), the taxpayer still cannot deduct the item until the 3rd party performs services.
Economic Performance for Interest

Economic Performance occurs as the interest accrues
Case Examples

US v. Hughes Properties: A casino operation was entitled to deduct the amounts guaranteed for payments on progressive slot machines, even though the amounts had not yet been won at year’s end by playing patrons. State law stated the guaranteed jackpot could not be rolled back, but the casino was completely free to set any odds it wants. Average period b/w payoffs on progressive slot machines are 4.5 months, but one went 13 months and another 45 w/o paying a jackpot. 

Gov Argument: liability was not fixed and certain until some lucky person pulled the lever to win jackpot ( court disagreed

Holding: the effect of the state law prohibiting rolling back the jackpot amount was the same as requiring payment into escrow and thus the casino could take a deduction in that year. The possibility that the jackpot would not be paid due to the casino going out of business was rejected on that grounds that this possibility exists w/ respect to every business that uses the accrual method

US v. General Dynamics Corp: Distinguished Hughes and held an accrual based TP can’t deduct the reserve account it established for unpaid claims under its self-insured EE medical care plan

Reasoning: the fact that the TP was obligated to reimburse EEs for medical care claims ONLY IF properly documented claims were filed. Since the claims had not been filed, the all events had not occurred

Other Accrual Deduction Rules

Contested Liabilities

Section 461(f) – allows a taxpayer to deduct a liability when it is paid, despite the fact that it is disputed.

This is necessary, because if a taxpayer is disputing that he owes a liability, he is essentially admitting that the all events test has not been met. Section 461(f) allows the taxpayer to claim the deduction despite the fact that he is contesting it, if he is willing to “put his money where his mouth is” by paying the liability and hoping for a refund

A contested liability can’t be deducted by an AM TP b/c the contest, in effect, renders the liability contingent and prevents it from being fixed or established

§461(f): payment of a contested liability accrues the liability and provides a current deduction in the year of payment

§461(f) allows the TP to take a deduction for a contested liability when money is paid if:

The taxpayer contests the asserted liability.

The taxpayer transfers money or other property to provide for satisfaction of the liability.

The “contest” or “dispute” of the liability exists after the time the funds are transferred.

If it were not for the contest, the deduction would be allowed for the year of the transfer or in an earlier year (thus, Section 461(f) cannot accelerate a deduction).

Prepaid Expenses


Treas. Reg. §1.461-1(a)(2): requires capitalization of prepaid expenses

Exception: 12-month rule: a TP is not required to capitalize amounts paid to create any right or benefit for the TP that does not extend beyond the earlier of (1) 12 months after the first date on which the TP realizes the right/benefit or (2) the end of the taxable year following the taxable year in which the payment is made.

Thus, only amounts paid to create rights or benefits that extend beyond 12 months must be capitalized in full and deducted ratably over the period benefitted

Executory K

Rev. Rul 2007-3: the mere execution of a K, without more
, does not establish the fact of a TP’s liability under the all events test. 

Ex: TP executes a K on 12/15/2016 that calls for services to be provided to the TP from 1/15/17 to 1/31/17 and payment by the TP on 1/15/17. 

According to Rule 2007-3: the fact of liability is not established until 2017, even though the TP executed the service K in 2016.

Deduction Under Accrual and dealing with Cash Method customer

§ 267(a)(2) denies a related payor a deduction until the payee has included the amount in income.
Deduction for Inventory Costs

§471

Section 61(a)(2) provides that gross income includes "gross income derived from business." For a TP that uses inventories (manufacturers, wholesalers, and retailers), gross income derived from business equals gross receipts from sales less the TP's “cost of goods sold.”

Rule 1: TP can’t deduct CGS until the inventory is actually sold, even if CM TP

Reg. 1.471-1 – even cash method TPs are required to use inventory accounting in every case in which the production, purchase, or sale of merchandise is a “material income producing factor”

e.g., manufacturers, wholesalers, and retailers must use inventories – use of supplies in a business does not require inventories because they are not a “material income producing factor”

Wilkinson-Beane, Inc. v. Comm’r – funeral home was required to use inventory accounting for sale of caskets because they were a material income producing factor for the business

Rule 2: we must use inventory accounting to calculate CGS

Note: Inventories does not represent a separate method of accounting. Rather, it is a component of the overall accounting procedure whose essential purpose is to establish the cost of goods sold as a step toward determination of the TP’s GI from business operations

Use the inventory accounting method to figure out what must be included in GI

Gross income derived from businesses using inventories includes gross receipts from sales less the TP’s cost of goods (cost of inventory) sold. Reg. §1.61-3(a) 

Opening/Beginning Inventory + Purchases/Additions during year = Good available for sale

Goods available for sale – Closing/Ending inventory = Cost of goods sold in terms of # of units of inventory

Gross receipts from sales – cost of goods sold = Gross income from inventory sales

Opening inventory = the value of the closing inventory from the previous year

Cost of merchandise: inventory costs that are capitalized under §263A are included in the cost of merchandise

HYPO: Serena, an accrual method, calendar year taxpayer, begins her business of selling tennis balls in December of Year One when she purchases 100 cases of tennis balls for $2,400 ($24 per case); however, she does not sell any tennis balls in Year One. In July of Year Two, she purchases another 100 cases of tennis balls for $2,400 ($24 per case) to add to her inventory. During Year Two, she sells a total of 150 cases of tennis balls for a total of $5,400 ($36 per case); thus, she still has 50 cases on hand at the end of Year Two. 
Opening Inventory ($2,400) + Purchases Y1 ($2,400) = Goods available $4,800

Goods Available ($4,800) – Closing Inventory (50*24=1,200) = Cost of Goods Sold $3,600

Gross Receipts from Sale ($5,400) – Cost of Goods Sold ($,3600 = Gross Income from inventory Sales $1,800)

Who must use Inventory Accounting

Inventory Accounting must be used by TP (even if TP is CM TO) for whom the production, purchase, or sale of merchandise is an income-producing factor. 

Generally, this applies to manufacturers, wholesalers and retailers

A TP who keeps an inventory of goods for sale must capitalize the costs of supplies and materials instead of immediately deducting them; the costs are added to the TP’s inventory costs and deducted when the inventory is sold

Inventory purchases are a nondeductible capital expenditure but the cost of inventory is deductible as an offset against sales proceeds

Merchandise: property held for sale to customers

A TP who is required to use inventories must also use the accrual method of accounting Reg. §1.446-1(c)(2)(i) ( but a CM TP could still use CM for other items of income/expenses
Exception: to mandated use of inventory and accrual ( If average annual gross receipts from sales over a 3 year period is < $25 million.

Qualifying TP instead can account for their inventory either by treating inventory as non-incidental materials and supplies or conforming that tax accounting and GAAP financial accounting for their inventory

Determining the cost of Closing Inventory

Specific identification method: If a TP can identify its actual cost for the specific goods in closing inventory, the TP can calculate the cost of the closing inventory on that basis. 

For example, an art gallery that sells unique works of art could use this method. This method is impractical if a TP’s inventory includes numerous fungible goods.

Cost convention methods: Typically a TP determines the cost of its closing inventory by applying either the first-in-first-out (FIFO) method or the last-in-first-out (LIFO) method. Both of these methods are fictions; they are simply conventions that are used to determine the value of the TP's closing inventory. The FIFO method applies unless a TP makes an election to apply LIFO. §472. A TP who uses LIFO for tax purposes must also use it for financial reporting purposes. §472(c). TPs are required to use the same cost convention method consistently.

First-in-First-Out (FIFO) Method (Applies unless a TP makes an election to use LIFO §472)

Assumes that the items sold during the year are the earliest items purchased and that the items left in closing inventory at the end of the year are the most recently purchased items (AKA items purchased last in the year)

Profits tend to be greater in a rising market and in a falling market losses tend to be greater than if using LIFO method

Allows the TP to anticipate a loss on inventory before it’s sold

Application: TP using FIFO computes the value of closing inventory using the lower of cost or market method to value inventory

Step 1: Calculate the cost of the units in the closing inventory using FIFO

Step 2: Calculate the market price (replacement cost) of the units in closing inventory

Step 3: Use the lower amount as the value of the closing inventory

“Replacement Cost”: doesn’t apply if the goods are defective or obsolete or there have been offers to sell and actual sales at a price that is less than the replacement cost

Last-in-First-Out (LIFO) Method

Assumes that the items sold are the most recently purchased items and that the items in closing inventory are the earliest items purchased

Cannot use the lower of cost or market method, the TP must use cost to determine the closing inventory

Using LIFO in a period of rising inventory costs decreases the TP’s closing inventory, which increases the TP’s cost of goods sold and in turn decreases the TP’s GI and tax liability

If using LIFO, must also use it for financial reporting purposes

LIFO v. FIFO

It depends whether the TP would prefer to have (i) higher gross income for both tax and financial accounting purposes or (ii) lower gross income for both tax and financial accounting purposes. 
Note: If the inventory cost of a business are increasing over time, the business would report lower income and pay less federal income tax if the TP uses the LIFO rather than if they used FIFO

When the price of inventory is rising, the taxpayer’s gross income from sales is lower using LIFO because LIFO increases the cost of goods sold. However, TP may not want to use LIFO for tax purposes b/c it would then have to use LIFO for financial accounting purposes. §472(c). A business may prefer to use FIFO in order to show larger gross profits to shareholders and lenders, such as banks, even if it means paying higher taxes.
HYPO:

HYPO: TP is a retailer. In Y1, she bought following identical inventory items. Item1 and 2 cost $2 per item. Item 3 cost $3 and I4 and I5 cost $4 per item. TP sold 3 items in Y1 for total of $20 and now there are 2 items left in closing inventory. So purchases = (2+2+3+4+4 = 15)

FIFO: Opening Inventory: $0. Purchases = $15, Closing Inventory = I4 + I5 = $4+$4 = $8, Cost of Goods Sold = I1 +I2 +I3 = 2+2+3 = $7. 

Opening Inventory + Purchases during year = 0 +15 = $15 Good available for sale

Goods available for Sale – Closing Inventory = $15 – 8 = $7 Cost of Goods Sold

Gross Receipts from Sales – Cost of Goods Sold = $20 - $7 = $13

LIFO: Opening Inventory: $0. Purchases = $15, Closing Inventory = I1 +I2 = 2+2 = $4, Cost of Goods Sold = I3+I4 + I5 = $3+$4+$4 = $11 

Opening Inventory + Purchases during year = 0 +15 = $15 Good available for sale

Goods available for Sale – Closing Inventory = $15 – 4 = $11 Cost of Goods Sold

Gross Receipts from Sales – Cost of Goods Sold = $20 - $11 = $9

Week 4: Original Issue Discount

6) Original Issue Discount

Overview

Overview: OID is the tax term for unstated interest on a bond/loan
What is OID: OID is created when amount loaned is less than the amount to be repaid.

The difference is interest 

Ex: I loan you $1000 and ask you to repay $1200 after 2 years. The extra $200 is interest

Total Unstated Interest (OID) = the stated redemption price (SRP) of the debt instrument at maturity – issue price (IP) of the debt (the amount of cash the bondholder paid for the debt

Difference b/w what was paid for the debt when it was issued and the amount for which the debt will be redeemed at maturity

Timing Issue: To avoid accounting asymmetry by bondholder being on cash method side and bond issuer using accrual method:

§1272(a)(1): Holder (aka the lender) includes OID allocable to the year

§163(e)(1): The issuer/borrower deducts OID allocable to the year

They may recharacterize part of the purchase price / principal amount as interest in the sale of non-publicly traded property as interest.

(Interest must be allocated according to the economic accrual method, under which interest compounds each period and thus gets larger in later periods.)

OID spreads interest that is paid in one period over the multiple periods to which it applies

They require accrual of interest at the minimum AFR rate on below market loans between certain parties, even if no interest is actually paid.

They often create phantom income (income without associated cash) for the holder/lender of debt instruments with OID or for holders/lenders of below market loans

If a debt instrument is issued in exchange for property, the OID rules require that we look for “hidden interest” that the parties might be calling principal.

Exam tip: OID rules make sure parties are not characterizing interest income as principal on sale transaction ( AKA not paying interest as they go alone, only Principal at end
STEP 1: IS IT OID 

Debt Instrument DEFINITION

§1275(a)(1)(A): a bond, debenture, note, or certificate or other evidence of indebtedness

EX: Secured promissory note, U.S. gov bond, an equipment leasing K under which the lessor makes annual lease payments

Certain types of preferred stock that pay a return may be considered to have OID

Certain annuity Ks are not treated as debt instruments §1275(a)(1)(B)

Reg.Sec.1.1275-1(d): term debt instrument means any instrument or K arrangement that constitutes indebtedness under general principles of Fed income tax law

When OID does not apply: 

Any tax-exempt obligation: 

§1275(a)(3) defines a tax-exempt obligation as an obligation the interest on which is exempt from tax under IRC §103 or any other provision of law. 
Any U.S. savings bond. 
Any debt instrument with a fixed maturity date of one year or less from the date of issue. 
Certain loans between natural persons. §1272(a)(1) does not apply to any loan made by a natural person to another natural person if: 

(i) the loan is not made in the course of a trade or business of the lender, and (ii) the amount of the loan does not exceed $10,000. (b) 
This exception does not apply if the loan has as a tax avoidance purpose as one of its principal purposes
Stated Redemption Price v. Qualified Stated Interest

Stated redemption price: the amount payable at maturity - “the amount fixed by the last modification of the purchase agreement and includes interest and other amounts payable at that time (other than any interest based on a fixed rate, and payable unconditionally at fixed periodic intervals of one year or less during the entire term of the debt instrument – the qualified state interest).”
Reg. §1.1273-1(b) SRP is the sum of all payment provided by the debt instrument other than qualified stated interest (QSI)

Exam tip: If there is No QSI then the debt instrument has OID

Qualified Stated Interest: Reg. §1.1273-1(c)(1). QSI is stated interest that is unconditionally payable in cash or in property (other than debt instruments of the issuer) . . . at least annually at a single fixed rate.
HYPO: A debt instrument pays interest every year on December 31 at the prime rate plus 2%, measured by the prime rate in effect on the date the payment is made each year. This debt instrument has NO QSI.

Since the prime rate fluctuates each year, interest is not paid at a single fixed rate over the entire term of the instrument and is therefore not QSI.

HYPO: A debt instrument pays interest every year on December 31 at the prime rate plus 2%, measured by the prime rate in effect on the date the loan is made. This debt instrument has QSI.

Since the interest rate for the term of the loan was measured by the prime rate on the date the loan was made, interest will be paid at a single fixed rate over the entire term of the instrument and is therefore QSI.

HYPO: Bigco loans $200,000 to Little Guy on April 1, 2015.  The loan is a five year loan, with interest payments of 7% due on March 31 of 2016, 2017, 2018, 2019 and 2020.  Principal due April 1, 2020. Little Guy is using the funds to start a new business and is worried about cash flow during 2016 and 2017. Accordingly, Bigco grants an interest holiday with no interest payments due for 2016 and 2017. Are the interest payments in years 2018, 2019 and 2020 qualified stated interest (QSI)?

Answer: No. For it to be QSI, the interest must be paid at least annually at a fixed rate. 

Here, the 7% interest payments of $14,000 each do not really “belong” in the years in which they are paid. Instead, the entire $42,000 ($14,000 x 3) of interest must be spread over the five years under the OID rules.
The SRP of a debt instrument that is not an installment obligation. (IO) is whatever is repaid at the end  

IO: IO is a debt instrument that provides for the payment of any amount, other than Qualified Stated Interest (QSI), before maturity. Reg. §1.1273-1(e)(1). 
Note: If a debt 
instrument is not an IO, the only payments that will be made before maturity are QSI payments, so the SRP of the instrument is the amount payable at maturity (less any QSI due at maturity).
Issue Price of Bond

Issue price of Bond: §1273 – when bond issued for cash, issue price = amount of cash the bondholder paid for the debt. AKA the amount borrowed

Issue price of stock: the value of the publicly traded property given in exchange for the debt

the IP of a debt instrument that is publicly offered for cash is the initial offering price at which a substantial amount of such debt instruments was sold. §1273(b)(1).
Issue price of stock: If a bond is issued for non-publicly traded property, the issue price of the debt is the imputed principal amount under §1274

De minimis Rule: §1273(a)(3) The OID on a debt instrument is treated as zero if the total OID on the debt instrument is less than: 
1/4 of 1% of the SRP, multiplied by 
the number of complete years to maturity.
Reg. §1.1273-1(d) sets forth more rules in connection with the de minimis exception
STEP 2: How is OID going to be allocated over the time period in which the debt is outstanding

Allocation Overview
§1272(a)(1): The holder includes in income the sum of the daily portions of the OID for each day during the taxable year on which the holder holds such debt instrument. 
The effect of this is that the holder must include the OID throughout the term of the debt instrument, even if none of the interest will be paid until maturity. 
§163(e). The issuer deducts the sum of the daily portions of the OID for the days in the year. 
The effect of this is that the issuer gets to take interest deductions throughout the term of the debt instrument, even if none of the interest will be paid until maturity.
Anti-abuse exception. (1) §1275(b): If a cash method borrower incurs debt to purchase or carry personal use property (e.g., a personal residence) and the debt instrument has OID, the cash method borrower cannot deduct the OID until it is paid.
Adjusted Issue Price AIP: §1272(a)(3): (A) The daily portion of the OID on a debt instrument is determined by allocating to each day in any accrual period that day's ratable portion of the increase in the adjusted issue price (AIP) during such accrual period.
AIP is spread over its corresponding accrual period on a pro rata basis 
Accrual Period(AP): The period of time over which the accrual of OID is measure
Reg. §1.1272-1(b)(1)(ii): (1) “Accrual periods may be of any length and may vary in length over the term of the debt instrument, provided that each accrual period is no longer than 1 year and each scheduled payment of principal or interest occurs either on the final day of an accrual period or on the first day of an accrual period. In general, the computation of OID is simplest if accrual periods correspond to the intervals between payment dates provided by the terms of the debt instrument. In computing the length of accrual periods, any reasonable counting convention may be used (e.g., 30 days per month/360 days per year).” (D)Reg. §1.1272-1(b)(4)(ii) and (iii) provide special rules for determining the OID allocable to an initial AP or final AP that is shorter than the other APs.
Calculations

Reg. §1272(a)(3): The increase in the AIP for an accrual period = the product of multiplying the AIP at the beginning of the AP by the debt instruments YTM – the QSI allocable to the AP

See Excel 

Accrual Period (AP): Allocate OID to each year that the bond is outstanding (Ex: say 10 years)

Under §1272(a)(5) we allocate OID to each 6-month semiannual accrual period. So we assume that there are 2 full accrual periods in each calendar year

EXAM TIP: the # of periods compounding is the # of years the bond is outstanding multiplied by 2 (b/c accrual periods are each 6 months long)

Also called the Constant-yield-to-maturity method b/c Same interest rate in percentage terms is used to calculate the OID allocable to each year

OID accrual = the yield to maturity * the adjusted issue price of the bond

Formula for OID for each six-month accrual period is that we multiply yield to maturity by the adjusted issue price of the debt

YTM: implicit interest rate on the bond. It’s the interest rate that when applied to the issue price produces the stated redemption price (it’s the internal return). For a zero-coupon bond, all of that return is unstated

Note: the YTM, that implicit interest rate, is constant throughout the ten-year period. The YTM is a single rate that is constant for all of the accrual periods during which the loan is outstanding. 

Yield-to-maturity (YTM): Reg. §1.1272-1(b)(1)(i). 
The YTM of a debt instrument is the discount rate such that, when used in computing the present value of all principal and interest payment to be made under the debt instrument, produces an amount equal to the issue price of the instrument. 
The yield is a constant rate over the entire term of the debt instrument. 
The yield must be calculated to at least two decimal places. 
The yield is stated as an annual rate based on a specified period of compounding (which corresponds to the length of the AP). 
When allocating OID to a period, divide the annual YTL by the number of periods of compounding in each year

Summary of what holder includes in a given AP

The product of multiplying 
the number of days in the AP the holder held the debt by  
the sum of the daily portions of OID allocable to the period. 
The daily portion of OID for the period is determined by allocating to each day in any accrual period that day's ratable portion of the increase in the adjusted issue price (AIP) during such accrual period. 
If the holder has held the debt instrument for the entire AP, the holder includes in income an amount equal to the increase in the adjusted issue price (AIP) during such accrual period. 
Effect of the OID inclusion on the holder’s basis for the debt instrument: The holder's basis in the debt instrument is increased by the OID included by the holder. §1272(d)(2).
Determining the Issue Price

§1273(b)(1): 

Applies if: i. The debt instrument is not issued for property (i.e., is issued for money), and ii. The debt instrument is "publicly offered." 

The IP = the initial offering price to the public (excluding bond houses and brokers) at which price a substantial amount of the issue of such debt instruments is sold.

§1273(b)(2):. 

Applies if: i. The debt instrument is not issued for property, and ii. The debt instrument is not publicly offered. 

The IP = the price paid by the first buyer. 

§1273(b)(3): a. 

Applies if: i. The debt instrument is issued for property, and ii. Either: 

The debt instrument is traded on an established securities market or 

The debt is issued for property (e.g., stock) that is traded on an established securities market.

The IP = the FMV of the property for which the debt is issued. 

§1273(b)(4): 

Applies if: i. §1273(b)(1), (2) and (3) do not apply to the debt instrument, and ii. §1274 does not apply to the debt instrument. 

The IP = the SRP (so there is no OID on the debt instrument).

§1274: Applies if: 
The debt is issued for property,
Neither the debt nor the property is traded on an established securities market, 
Per §1274(c)(1)(A), the SRP of the debt exceeds: 
The Stated Principal Amount (SPA), if the debt bears Adequate Stated Interest (ASI), or 
The Imputed Principal Amount (IPA), if debt does not bear ASI and 
Per §1274(c)(1)(B), some of the payments due under the debt instrument are due more than 6 months after the date of such sale or exchange. 
If the IP is determined under §1274, the IP is either the SPA (if the debt bears ASI) or the IPA (if the debt does not bear ASI).
§1274 special Rules

Stated Principal Amount = The total payments due under the debt instrument, excluding any interest provided for in the debt instrument. Reg. §1.1274-2(b)(1) 
Imputed Principal Amount = 
The sum of the PV's (discounting at the "test rate") of all payments due under the debt instrument. 1274(b)(1). 
The PV's are determined as of the date of the sale or exchange. 
The "test rate" is the lowest applicable federal rate (AFR) in effect for any month in the 3-month period ending with the first calendar month in which there is a binding K for the sale or exchange. §1274(d)(2). 
AFR's are published monthly by the IRS, and are based on yields on U.S. Treasury obligations. 
Which AFR applies depends on the term of the debt instrument: (
The short-term rate applies if the term of the debt instrument is not over 3 yrs (i.e., is 3 years or less). 
The mid-term rate applies if the term of the debt instrument is over 3 years but not over 9 yrs (i.e., is 3+ years to 9 years). 
The long-term rate applies if the term of the debt instrument is over 9 years. 
§1274A caps the AFR at 9% CSA if 1274A applies.
§1274A applies if the SPA is $2.8 million (adjusted for inflation) or less.

Per Rev. Rul. 2001-65, the inflation adjusted amount for 2002, under §1274A, is $4,217,500. 

There is also a special IPA rule for "potentially abusive situations." §1274(b)(3). 

If §1273(b)(3) applies, the IPA = the FMV of the property exchanged for the debt. 

§1274(b)(3)(B) says potentially abusive situations include: (1) Tax shelters, or (2) Any situation where, by reason of nonrecourse financing, recent sales, or other circumstances, the IRS thinks the situation has potential for abuse.

Timing of OID

Example

The # of periods compounding is the # of years the bond is outstanding multiplied by 2 (b/c accrual periods are each 6 months long, but these 6 month periods may or may not correspond w/ the calendar year

Ex: if loan was made on Oct. 1 then our first accrual period is Oct 1 to Mar 30 so we divide the interest from the first six month AP in half 

If our accrual period is even messier than that, let's say that one was made on November 11th. So we have part of November and all of December in calendar year one. We would divide the 1,290 in that accrual period as ratably based on the number of days
For example, if OID attributable to the first 6-month AP is $5,000, then each day in the accrual period is allocated a ratable portion of that $5k = 5000/182 = $27.50 per day

To summarize, the holder includes in a given accrual period, the product of multiplying:

(the number of days in the accrual period the holder held the debt) X (the daily portions of OID allocable to the period)

The daily portion of OID for the period is that day's ratable portion of the increase in the adjusted issue price (AIP) during such accrual period. (This could be the entire amount of the increase AIP if the holder held for the entire accrual period).

NOte the effect of the OID inclusion on the holder’s basis for the debt instrument: The holder's basis in the debt instrument is increased by the OID included by the holder.

Sale of Property for Deferred Payments with Unstated Interest
OID rules for property transaction and bond transaction

Ex: X owns property w/ basis of $100 and FMV of $377. What are the tax consequences if in Y1 X sold the property for $377 and took that cash and bought a 10 year, zero-coupon BigCo bond that pays $1000 at maturity? 

X would have a property transaction in Y1. His amount realized would be $377 and his basis is $100. X would realize and recognize $277 gain. Then X would have the same interest inclusions from above example where over the 10 year period X would include $623 of interest and that interest would be allocated over each of the 10 years using the constant YTM method

OID rules on property w/ deferred payment

The tax rules bifurcate (cut into 2 pieces) the deferred payment. One piece is the property transaction and the other piece is the issuance of the zero-coupon debt instrument.

The OID rules apply to the sale of property for a deferred payment w/ unstated interest. The issuance of a zero-coupon debt instrument for property is subject to OID rules

Thus: must analyze a property transaction separately from the OID debt transaction

What do we need to know: what is the amount realized? For what amount did X sell his property? For the OID debt transaction, what’s the issue price of the debt. For what amount did X sell the property? 

§1274: When a debt instrument with unstated interest is issued for property, we must calculate the Imputed principal amount (IPA)

The IPA is the present value of future payments to be made on the debt, discounted at the applicable federal rate (AFR)

The IRS issues the AFR and the TP discounts to present value the payments to be made on the debt, using the AFR.  

We start with the amount payable at maturity (which is the future value). $1,000 is the future value. We discount that future payment to present value and the discount rate (which is sort of the inverse of an interest rate) is the AFR
That present value is the IPA and the IPA has 2 purposes

IPA is deemed to be the amount realized in the property transaction

IPA is deemed to be the issue price in the debt transaction so we can apply OID rules

Ex: X owns property w/ basis of $100 and FMV of $377. Buyer will pay X $1,000 in Y10

IPA: Present value of the future value of $1000 is $377

Realized Gain = Amount Realized – Adjusted Basis = IPA – AB = $377-$100 = $277

Under Installment sale reporting §453, X can defer that inclusion of $277 of gain until Y10, when X receives the payment for the property transaction

When does §1274 not apply

Section 1274 does not apply to sales of: principal residences; sales in which payments are not deferred for more than six months; certain sales of farmland; and property sales that require at least annual interest payments, provided that the stated interest rate on the debt at least equals the AFR. If debt bears stated interest at a rate that at least equals the AFR, but that interest is not payable until maturity, the debt will have OID in an amount equal to the stated interest payable at maturity. §§1273(a)(1), (2), (b)(3), 1274(a)(1). The holder and issuer of the debt have to include and deduct the interest each year using the constant yield-to-maturity method described above.

Section 1274 also does not apply to a sale if the total payments to be made on a debt instrument exchanged for property are not at least $250,000. §1274(c)(3)(C). However, another section, §483, can apply in that case. Section 483, like §1274, determines the amount of unstated interest on a debt instrument issued for property by comparing the payments to be made on the debt and the present value of the payments to be made (again discounting the payments at the AFR). §483(b). But §483, unlike the OID rules, does not require accrual of the unstated interest, calculated using the constant yield-to-maturity method. Instead, the holder and issuer of the debt instrument report the unstated interest under their normal methods of accounting (despite the fact that this results in asymmetrical treatment of the interest where the holder is a cash method TP and the issuer is an accrual method TP). Reg. §1.483-1(a)(2)(ii).

Week 5: OID part 2 and Below Market Loans

7) OID part 2

Intro

Overview

The OID rules are looking for potential hidden interest when we're unsure about the value of property that is sold. And they're trying to allocate interest that is paid in one period, but really belongs in multiple periods over the life of the loan. These rules affect the borrower and the lender.

The below market loan rules wanna make sure that any interest that is not being charged because the parties have a special relationship is accounted for in a manner that reflects the true nature of the transaction.

2 functions of OID

Allocating interest across the life of a loan. Needed for:

Alls debt instruments with OID, whether issued in exchange for cash or property.

Finding hidden interest. Also needed when:

A debt instrument is issued in exchange for non-publicly traded property.

Exam tip: if the stated rate of interest is not equal to or greater than the safe harbor rate, the issue price is determined by imputing interest to the transaction at a higher rate

Safe habor rate and the imputation rate are equal to the AFR 

HYPO

An obligation WITHOUT stated interest must reflect the interest element earned on unpaid interest

Ex: a promise to repay $1 at the end of 3 years plus 10% interest accruable semiannually (but payable at the end of the term) requires interest accruals of 5% of the outstanding balance, including accrued interest, at the end of each 6-month period.

Y1 AP1 = $1 * .05 = .05 and end balance = 1.05 and Y1 AP2 $1.05*.05 = .0525 and end balance = 1.1025 and so on until at end of year 3 the value is $1.34

So this promise in Y1 is equivalent of a promise to pay $1.34 at end of 3 year period. The $1.34 is the amount that the creditor would expect to have at the end of the 3-year period if $1 is set aside in a savings account that paid 10% interest CSA

Determining Issue Price

§1273: 

§1273(b)(1) and (2) Debt instruments issued in exchange for cash

IP is the amount paid by the buyer of the debt instrument (the amount loan)

If publicly offered debt instrument, IP is the initial offering price to the public at which price a substantial amount of such debt instruments are sold

§1273(b)(1): Debt instrument issued for property: and either the debt instrument is traded on an established securities market or the debt is issued for property (stock) that is traded on an established securities market

IP= FMV of the property for which the debt is issued

In all three of those cases, §1273(b)(1), (b)(2), and (b)(3), we don’t need the second function of the OID rules (to seek out hidden interest), because we trust the market to make sure that the amount being loaned is really being loaned and that interest will be charged at an appropriate rate.

In a cash loan, we know how much the principal amount is, and if the parties don’t charge interest, so be it. So, we can trust the parties as to what they say is the issue price. If a debt instrument is publicly traded, or the property for which it is issued is publicly traded, we can trust that the selling price of the property is really as the parties say it is.

§1273(b)(4): if b(1),(2),(3) don’t apply to debt instrument and §1274 doesn’t apply

Then IP = SRPM (so there is no OID on the debt instrument)

This rule applies to a situation in which a debt instrument is issued in exchange for non-publicly traded property, but the parties specify and pay interest at or above the minimum rate, so we don’t need either function of the OID rules. We don’t need to find any hidden interest (there is plenty), and we don’t need to allocate interest because it is being paid on a current (annual) basis.
§1274

Applies if: The debt is issued for property and neither the debt nor the property is traded on an established securities market, AND The SRPM exceeds the IP (so there is OID).

When a debt instrument is issued in exchange for a non-publicly traded property

If parties have not provided in their transaction for interest at or above the AFR (which is the minimum rate of interest that makes economic sense), then for IP we use IPA

In that case, the IP will be either: (a)the stated principal amount (SPA), if the debt instrument bears adequate stated interest (ASI), or (b) the imputed principal amount (IPA), if the debt instrument does not bear ASI.

When debt has ASI: when YTM (aka the interest) is > AFR

Scenario 1 HYPO: when Principal = SRPM
I sell you stock in my closely held company for $1M and allow you to pay me in 5 years. I don’t charge interest. Is that $1M is actually hidden interest?

We could have used $1M as purchase price and tacked on interest at minimum rate, but instead, we use $1M as the amount to be repaid (which it will) and work backward to the PV to determine the actual selling price

So $1M is the SRPM: since the debt instrument doesn’t bear adequate state interest (none is specified or paid), then we cannot respect $1M as the stated principal amount/sales price. Instead we must use the IPA and work backward to the IP

$1M is the FV and the midterm AFR (applies to a 5-year loan) is 1.69%. So then PV is $919,298 and this becomes our new selling price, determining my gain and your basis. It also becomes our IP for calculating OID. We use 1.69% as the YTM

Scenario 2: When Principal < SRPM
Now, I sell you my stock in my closely held company for $1M and allow you to pay me back in 5 years and we specify you pay me back $1,160,540. What happens?

We calculate YTM and get 3% and that is > AFR (at 1.69%), so our debt instrument bears ASI

Thus we can respect the purchase price the parties specify and use the SPA rather than IPA

So we treat the $1M as the IP and calculate the OID using the YTM of 3%

We don’t need the AFR for OID going forward

Scenario 3

I sell you stock in my closely held company for $1M and allow you to pay me in 5 years. WE specify that you’ll pay me interest of $30k (3%) every year

I have ASI b/c 3% > the AFR. So use SPA of $1M

SPRM is also $1M b/c my interest payments each year are QSI

Thus I’m §1273(b)(4) in which I don’t need either function of OID rules

§1274 Exceptions and ASI

1274 Exceptions

1274(c)(3)

Farms sold for $1M or less by individuals or small businesses

Sale of principal residence

Sales for $250,000 or less

However, §483 applies to these transactions!

It works the same way, in that it recharacterizes part of principal as interest, but OID is not accrued. Instead, when a payment is made, part of it is recharacterized as interest. So on smaller sales, the second function of the OID rules (finding hidden interest
) is in place, but not the first function (allocating the interest).

§483 applies to sales transactions of $250k or less and changes only the character of the amount of income determined to be interest but does not require spreading it over the life of the loan

§483(c)(1): 483 DOESN’T APPPLY IN THIS SCENARIO 

Adequate Stated Interest

ASI is interest at or above the AFR. 

Debt bears ASI if either the Code rule or reg rule for ASI is met

§1274c2 test for ASI: if the SPA of the debt is < or = IPA of the Debt

The totally payments other than amounts designated as interest (SPA) are < or = to the sum of the PV’s of all payments due under the debt instrument (IPA)

Reg. 1.1274-2c1: If a debt instrument has a single fixed rate of interest that is paid or compounded at least annually, and that rate is equal to or greater than the test rate, the debt instrument has adequate stated interest. (The "test rate" is the applicable AFR on the date the debt instrument is issued.)

Analytic Framework for different HYPOs

HYPO 1: note with interest and says that X% of interest is payable every 6 months

Step 1: is the X% > AFR 

If yes, then (a)the stated principal amount (SPA), if the debt instrument bears adequate stated interest (ASI), or (b) the imputed principal amount (IPA), if the debt instrument does not bear ASI.

Step 2: IP = SPA = principal amount of loan

Step 3: SRPM = principal amount of loan (not including the other interest payments since that is QSI)

HYPO 2: note w/ principal amount X and 0 interest. Example: I sell you stock for $2.5M to be paid back in 5 years. OID rules require us to determine PV of $2.5M to be paid in 5 years. There is no ASI so we use the IPA for the issue price

Exam tip: if 0 interest there no ASI

IPA = PV of principal amount

SPA = principal amount

SPA > IPA so no ASI
Since no ASI then IP = IPA

Exam tip: If the interest is not less than AFR, we can use SPA. So make sure to structure a transaction this way! Otherwise, you have to use IPA and you will surely have OID.
OID = SRPM – IP.

HYPO 3: note w/ interest at X% compounding semiannually, with all interest payable at maturity

Step 1: is X% > AFR

If yes, then IP = SPA b/c it bears ASI

OID = SPRM which SRPM (Principal + accrued but unpaid interest) - IP

HYPO 4: note is registered form and traded on established securities market

IP = FMV of the property

OID = SRPM – IP and this would not equal zero
8) Below Market Loans

Introduction

§7872 Overview

Assumes 3 fictions

The loan bears a market rate of interest.
There is a deemed transfer, from the lender to the borrower, of an amount of money sufficient to enable the borrower to pay the lender the market rate of interest 
There is a deemed retransfer of the interest from the borrower back to the lender.
The net effect is to leave the high-bracket lender with interest income and, depending on the nature of the borrower’s investment, to possibly give the low-bracket borrower a corresponding interest deduction.
Address below-market loans income shifting: high-bracket TP made short-term, no interest loans to low-bracket family members. Investment income attributable to the cash loaned would then be realized by the low-bracket family members and taxed to those members

Below-market loan: an interest free loan or interest rate < AFR

 A taxpayer who makes an interest-free loan is taxed on the forgone interest (at the AFR) on that loan. The lender’s imputed interest inclusion may be more or less than the actual income earned by the borrower on the loan principal.
AKA lender is taxed on annual interest inclusions even though the person receiving the loan will not pay lender any interest on the loan

9) Approach to §7872 problems

Part A: determine whether §7872 applies to the loan

Step 1: is the loan a below-market loan

Step 1A: Below Market Loan Definition: 2 different definitions- which definition applies depends on whether the loan is a demand loan or a term loan §7872(e)(1)

True Demand loan §7872(f)(5): any loan which is payable in full at any time on the demand of the lender

Demand loan: loan is below market for a demand loan if it does not bear interest at the AFR or above (using short-term AFR)

Compensation related deemed demand loan (CRDDL): any loan if the benefits of the interest arrangements of such loan are not transferable and are conditioned on the future performance of substantial services by an individual 

If an ER makes a low interest or interest free loan to an EE, conditioned on the EE staying with that ER, then the loan is treated a s a demand loan, even if it is otherwise a term loan 

Ex: Employer loans employee $100,000, interest free, to be repaid in 5 years, but if the employee does not continue to work for that employer for the full 5 years, the loan is due when the employee stops working for the employer.
Note: the AFR for a CRDDL is determined by reference to the stated term of the CRDDL. Important when we are determining the consequences of the application of §7872.)
Term loan §7872(f)(6): any loan that’s not a demand loan

The loan is below market ofr a term loan if the amount loaned exceeds the PV of all payments due under the loan

Step 1B: Definitions of BML based on step 1A

If Demand loan: loan is a BML if interest is payable on the loan at a rate < AFR

AFR used for true demand loans is the short term AFR §7872(f)(2)(B)

AFR used for CRDDL is the AFR for the stated term of the loan §7872(f)(5)

Term loan: loan is a BML if the “amount loaned” exceeds the PV of all payments due under the loan

Amount loaned: amount received by the borrower

PV: calculated as of the date of the loan, using a discount rate equal to the AFR

Step 2: Is the loan one of the types of loans within the scope of §7872(c),
Gift Loans §7872(c)(1)(A): foregoing of interest is in the nature of a gift

Loans made as a gift from 1 family member to another 

Compensation related loans §7872(c)(1)(B): any loan from ER to EE

no-interest loans from corp to shareholders §7872(c)(1)(C):
Other tax avoidance loans or loans where interest arrangements have a significant tax effect to the lender or borrower

Step 3: Do any of the exceptions to §7872 apply. §7872(c), (e)(1)
§7872(f)(8): 7872 doesn’t apply if §483 or 1274 applies

Gift De minimis exception: Gift loan de minimis exception applies if

(i) Loan is a gift made directly b/w individuals, (ii) aggregate amount not < $10k, and (iii) loan proceeds were not used to purchase or carry income producing assets.

Corp-Shareholder De minimis exception §7872(c)(3) 

(a) The aggregate amount of loans between the lender and borrower does not exceed $10,000, and (b) The interest provisions do not have, as a principal purpose, a purpose to avoid tax.
Part B: Determine the consequences of apply §7872

Step 1: is the loan within §7872(a) or (b)

§7872(a): applies to true demand loans, CRDDL’s (including term CRDDL’s, and gift loans)

§7872(b) applies to all other term loans

Step 2: Consequences of §7872(a)

§7872(a) provides that, on the last day of the calendar year, the "foregone interest" on the BML is deemed transferred from the lender to the borrower, then is deemed retransferred from the borrower to the lender.
"Foregone interest" §7872(e)(2) as: The amount of interest which would have been payable if interest had accrued at the AFR and were payable on the last day of the calendar year less any interest actually payable on the loan. 
FI = (1) Interest at the AFR - Interest as stated on loan.
The deemed transfer from the lender to the borrower. On the deemed transfer from the lender to the borrower, we must determine the character of the amount transferred, and the consequences to the lender and borrower.
Loan is a gift loan

Amount of the FI is a gift, so the donee can exclude the amount of the FI, deemed transferred to the borrower under §102

Donor does not get any income tax deduction

The deemed transfer may have gift tax consequences to the donor

Compensation-related loan from ER to EE

EE has ordinary compensation income in an amount = to the amount of the deemed transfer (the FI), and

The ER has a §162 salary deduction in the amount of the FI

Corp-shareholder loan from a corp to its shareholder

Shareholder has ordinary dividend in the amount of the FI, and 

Corp does NOT get a deduction for dividend paid to shareholder

What if shareholder is also an EE? 

If a shareholder who owns more than 5% of the corporation is also an employee, the regulations create a presumption that the loan is a corporation shareholder loan. In order to rebut the presumption, the shareholder must offer clear and convincing evidence that the loan was made solely in connection with the performance of services. 
So if a BML is made to a SH-employee, generally the corporation will not be allowed to deduct the amount of the FI
Deemed retransfer from borrower to lender: §7872(a)(1)(B) the amount deemed retransferred from the borrower to the lender (the amount of the FI at AFR) is treated as interest

Interest income to lender and possible interest deduction for borrower

Deemed retransfer is treated as an interest payment from borrower to lender

Don’t characterize the retransfer – it’s always treated as an interest payment

Lender has interest income in the amount of the FI that is deemed retransferred to the lender

The borrower has interest expense in the amount of the FI that is deemed retransferred to the lender

Exam tip: Then we must determine whether that interest expense is deductible by the borrower

§163(d): limits deduction of interest on loans allocable to investment property to the amount of the TP’s net investment income for the year

NII = GI from investments less deductions other than interest expense connected with investments

Exception: §7872(d)(1): limits amounts of deemed retransfer for certain gift loans.

Only if aggregate amount of loans b/w lender and borrower is not > $100k

Limits amount of the retransfer to the borrower’s NII for the year

Ex: Father loans son $40k, which son invests in tax exempts w/ 5% return

There is no income tax consequences on the deemed transfer

Deemed retransfer: 0 b/c son’s NII is 0 since if Father didn’t loan the $50k but father instead invest $50k of own money in tax exempts and earned $2,500 which he gave to son at the year Father would have no income so Father would not have any interest income in the form of a retransfer of interest on the BML

HYPO: on jan 1, 2008, applicable fed rate is 10% compounded semiannually, T borrowers $1M interest free from ER, promising to repay the principal on demand. T invests the funds and earns, before taxes $102,500

Compensatory element even though interest-free loan.

EE has phantom income which is ordinary income (b/c compensation) but T has no cash in her pocket

T deemed to have received (deemed transfer): principal *1/2 of AFR = $1M * 5% = $50k 

Deemed retransfer: she is deemed to have made an interest payment to her ER (which may or may not be deductible)

ER deemed transfer: $50k compensation deduction and is deemed to have $50k of interest income (deemed retransfer)

Consequences of §7872(b)

Applies to term loans that are NOT gift loans

For a deemed transfer of all the foregone interest for the entire term of the debt:

On the date of the loan, there will be a deemed transfer, from the lender to the borrower, in an amount equal to the amount loaned less the PV of all payments due under the loan. 
We must characterize the deemed transfer, as before, as either a gift, compensation, or a dividend, and determine the tax consequences of that characterization to both the lender and the borrower.
The amount deemed retransferred as interest is subject to the OID rules. §7872(b)(2). 
§7872(b)(2) says that the OID equals the amount loaned less the PV of all payments due under the loan. 
SRP is determined in the normal way. 
IP = SRP – OID
YTM = AFR

Scenario A:

Grandmother GM loans $100k to granddaughter GD on Jan 1, 2015. She says it’s an interest-free loan. Short term AFR is 2% csa.

BML b/c no interest is charged and the foregone interest is in the nature of a gift

No de minimis exception applies

§7872(a) applies)

Conclusions: Thus, on Dec 31, 2015, GM is treated as transferring the foregone interest to GD

Interest for first accrual period = $100k * 1% (half of annual AFR) = $1k

Interest for second accrual period = $101,000 *1% = $1,010

On Dec 31, GM gives deemed gift of $2,010 to GD, and GD gives deemed interest payment of $2010 to GM

§7872(d)(1):  This special rule limits the amount of the deemed retransfer in the case of certain gift loans if the aggregate amount of loans between the lender and the borrower does not exceed $100,000.  In that case, the amount of the retransfer from borrower to lender is limited to borrower's net investment income for the year.

So, if GD uses the money to pay for college and doesn’t invest the money, GM has no interest income under this rule.

This is because §7872 is concerned with income shifting and here there is no income to shift. 

Scenario B

ER loans $100k to EE on Jan 1, 2015. ER says it’s an interest-free loan. The midterm term AFR is 3% csa

BML b/c no interest is charged and the foregone interest is in the nature of compensation

7872(b) applies

Conclusions: 

Thus, on Jan 1, 2015, ER is treated as transferring the entire amount of the foregone interest to EE as compensation payment

PV of $100k to be paid in 5 years at AFR of 3% csa is $86,167. So ER is treated as making compensation payment of $13,833 on jan 1, 2015 and ER should have salary deduction

OID is calculated and accrued on the loan using the issue price of $86,167 and a YTM of 3%. ER will have interest income. EE may have an interest deduction under 163(d), depending on what money is used for

Week 6: Accounting Methods

10) What is an Accounting Method

Overview

Introduction

In Y1 a TP may adopt a cash or accrual method of accounting in tax return and may adopt any permissible method of accounting for an item within that overall method in first tax return for an item w/in the overall method in first income tax return it files that accounts for the item

After adopting a method, a TP must use it consistently for all items from year to year

One may not change accounting method without IRS permission (implicit or explicit)

Note: Trying to correct a mistake may actually be a change in accounting method.

If a mistake or improper position is an accounting method, there is no statute of limitations, and the IRS may make an adjustment that goes back to the earliest relevant year.

The term “method of accounting” includes the over-all method of accounting of the taxpayer as well as the accounting treatment of particular items of income or deductions. 
Regardless of the method of accounting selected by a taxpayer, however, the method used must clearly reflect income; if the method the taxpayer selects does not clearly reflect income, the IRS may require the taxpayer to change to a method which does. [IRC § 446(b).] 
If a taxpayer is engaged in more than one trade or business, she may use a different method of accounting for each trade or business provided that each method does clearly reflect income for the respective trade or business. [IRC § 446(d).] 
3 tests to determine and define an accounting method

Material Item test: The term “method of accounting” includes not only the overall method of accounting of the taxpayer but also the accounting treatment of any material item.

Timing Test: A material item is an item that involves the proper time for the inclusion of the item in income or the taking of the item as a deduction.  

A change in method of accounting does not include adjustment of any item of income or deduction which does not involve the proper time for the inclusion of the item of income or the taking of a deduction.  

An accounting method item does not permanently affect the taxpayer’s lifetime income.

Consistency Test: In order to be an accounting method, the taxpayer’s treatment of the item must be consistent. Treatment of a material item in the same way in two or more consecutive tax returns generally represents consistent treatment, and thus adopts an accounting method.  

However, if the taxpayer treats the item correctly in the first tax return that is filed with respect to that item, it is not necessary to treat it in the same way in the next year to adopt a method of accounting.   

Asking Permission

Northern States Power v. U.S.: A TP must get permission to change their accounting method, even if they are not aware that an accounting method had been adopted. “No particular formality beyond the filing of a return is required to constitute the adoption of an accounting method.”

Once a method of accounting is selected, it may not be changed without prior approval from the IRS and, generally, the taxpayer must demonstrate some business purpose for making the change. [IRC § 446(e).]
Form 3115: TP must file IRS Form 3115, Application for Change in Accounting Method, during the taxable year in which the taxpayer wants to make the proposed change.

Purpose: The purpose of the prior-approval requirement is to permit the Commissioner to review the proposed change in method in order to make certain that 

the change will be to a correct method, that no tax abuse will result from the change, and that the change will be made with appropriate adjustments to ensure that no items of income escape taxation and that no items of expense are deducted twice.

Treas. Reg. §1.446-1(e)(3): By regulation, a taxpayer must file an application for change with the Commissioner within the first 180 days after the beginning of the taxable year in which it desires to make the change.

Rev. Proc. 97-27; Rev. Proc. 2011-14: Even though a taxpayer can’t change from an impermissible method without IRS consent, it can still be subject to penalties for the use of an incorrect method. IRS will not impose penalties if taxpayer voluntarily changes from an impermissible method to a permissible method (with consent).
If a taxpayer changes its method of accounting without first obtaining the Commissioner's approval, the Commissioner generally may require the taxpayer to change back to its original method of accounting.

Treas. Reg. §1.446-1(e)(2): The change back to the original method may be made in the year of the taxpayer's unapproved change. This rule applies even where the change is from an erroneous method to a correct method.

Audit: Rev. Proc. 97-27; Rev. Proc. 2002-9: Generally, a taxpayer may not file an application to change an accounting method if it is under examination by the IRS. There are some exceptions to this rule, allowing a taxpayer to request changes during certain 'windows' in the examination process, with permission by the examining agent, or with respect to issues pending within the examination.

How to Change an Accounting Method

§481(a)

A taxpayer changing its method of accounting must take the transition into account in a way that prevents amounts from being duplicated or omitted.

What §481 does:

income for the taxable year preceding the year of change must be determined under the method of accounting that was then employed, 
income for the year of change and the following taxable years must be determined under the new method of accounting as if the new method had always been used.
When a taxpayer makes a voluntary accounting method change, the adjustment is generally deducted entirely in the year of change for a negative 481(a) adjustment, and included in income over four years for a positive 481(a) adjustment. 
The IRS generally will not require the taxpayer to go back and implement the accounting method change in an earlier year, although the 481(a) adjustment will reflect items from prior years.
Scenario A: A taxpayer wants to switch from the cash method to the accrual method.  At the end of 2013, taxpayer has outstanding accounts receivable of $1,000 and accounts payable of $250.

What is the amount of taxpayer’s section 481(a) adjustment? The 481 adjustment would be an income inclusion (positive 481 adjustment) of $750.  Once the taxpayer is no longer on the cash method, collecting a receivable and paying a payable will no longer be a taxable event. So we need to “catch everything up” so that once the taxpayer is on the accrual method and therefore does not record the collection of the receivable and paying of the payable b/c these are not relevant for an accrual method taxpayer, we will not miss recording these items.

Scenario B: Taxpayer has always deducted estimated costs for workers’ compensation when accrued.  This is improper under the economic performance rules.  Thus, it begins to correctly wait to deduct workers’ compensation claims when paid.  At the end of 2013, it has $1,000,000 of accrued workers’ compensation claims.

What is the 481 adjustment for 2014 (first year of the new, correct accounting method)? The correct answer would be a 481 income inclusion of $1,000,000 (positive 481 adjustment) because the taxpayer is going to deduct these claims when paid, so we need to “unwind” the improper advance deductions the taxpayer took under the incorrect method.

Voluntary Change

When a taxpayer makes a voluntary change in accounting method:

the 481(a) adjustment is spread over four years (positive adjustment);

the taxpayer receives audit protection for prior years (avoiding interest and penalties);

the taxpayer does not need to amend prior returns

Note: the change may be from one proper method to another OR from an improper method to a proper method.

Scenario C: A taxpayer wants to switch from the cash method to the accrual method.  At the end of 2013, the taxpayer has outstanding accounts receivable of $1,000 and accounts payable of $250.

Was not eligible to use the cash method and so had been using it inappropriately?

(Assume that the taxpayer voluntarily attempts to properly change to the accrual method in 2013.) In that case, the taxpayer could spread the 481 adjustment out over 4 years because it is a voluntary change.

What if IRS discovered the problem in 2010 tax returns?

The IRS could make the taxpayer include the entire amount in the year of change because it is an involuntary change.
Involuntary Change

When a change to the taxpayer’s method is involuntary, the taxpayer must generally include the entire amount of the 481(a) adjustment in income in the year of change. The adjustment may include amounts that would otherwise be barred by the statute of limitations, and may reach back as far as 1954.
This type of change occurs when the IRS discovers an improper accounting method. The IRS may require the taxpayer to change the accounting method in the earliest open year. The Section 481 adjustment (discussed previously) can include amounts from the taxpayer’s first tax return to include the improper accounting method, even if the statute of limitations has closed on that year.

Automatic Consent

Both voluntary and requires permission.

If an accounting method change is described in the Appendix to Rev. Proc. 2011-14 (listing Automatic Consent changes), Rev. Proc. 2011-14, which provides the procedures for Automatic Consent changes, is the exclusive procedure for a taxpayer within its scope to obtain the Commissioner’s consent.

In other words, a taxpayer may not apply for Advance Consent if its requested change falls within the scope of an Automatic Consent change.

To obtain Automatic Consent, a taxpayer must follow instructions contained in relevant Rev. Procs. and provide all relevant information on Form 3115. If taxpayer does not do this, IRS may request further information, or deny the change, after review of Form 3115.

Note: No Automatic Consent if Prior Change within 5 Years

A taxpayer may not request an Automatic change if the taxpayer has previously changed the same method of accounting within the previous five years (some exceptions).

Common Automatic Consent changes:

Missed bonus depreciation

Uniform capitalization costs (263A)

Advance payments (Rev. Proc. 2004-34)

Self-insured medical costs

Repair and maintenance costs

Bad debts

Prepaid expense liabilities

Advance Consent

Like Automatic Consent, Advance Consent is both voluntary and requires permission. 

Advance Consent changes are essentially those changes for which there is no Automatic Consent. Advance Consent changes also need to follow PLR procedure in Rev. Proc. 2011-14.

Generally, the IRS won’t give permission for retroactive change. A change is typically effective for the first day of taxable year in which taxpayer files application. 

If a change request is still pending when the return is filed, many taxpayers will file the return with the requested change, and then amend the return if consent is not granted.

Audit Protection: With a voluntary, automatic, or advance consent change, the IRS generally will give 'audit protection' for years prior to the year of requested change and will not require the taxpayer to change the method in an earlier year.
Error Correction v. Change in Accounting Method

Introduction

Rev. Rul. 90-38: The IRS takes the position that a taxpayer may not file an amended return to correct an improper method that has been used on two consecutive tax returns, even if the statute of limitations is still open for the first year in which the improper method was used. 

The IRS believes that the TP must apply for a change in accounting method in this case.

Prior to Rev. Rul. 90-38, the IRS took the position that permission was only required in this case when the statute of limitations had closed on the first year in which the erroneous method had been used. Otherwise the taxpayer could go back and amend the return. This approach is also supported by case law.

A change in method of accounting does not include a change in treatment resulting from a change in underlying facts.

Math Correction of Change?

Treas. Reg. § 1.446-1(e)(2)(ii)(b);A change in method of accounting does not include correction of mathematical or posting errors. However, an error that has been repeated for many years may be an accounting method change.

A mathematical error is in the eye of the beholder. Courts vary on whether something is a 'computational error' or a change in method of accounting.

Evans v. Comm., TC Memo 1988-288: A cash method taxpayer had always reported bonus income in the year the bonus was authorized, rather than when received in the following year. One year, the taxpayer did report income in the later year of receipt. The IRS argued there was a change in accounting method. The Court held that reporting in the later year had just been an inadvertent error, like a posting error, rather than inadvertent change in accounting method.

BUT, when an accountant omitted a step in calculating the dollar value of inventory for LIFO calculations, understating ending inventory and overstating cost of goods sold, the Court held that it had been an unauthorized change in accounting method.

11) Annual Accounting

Overview

§441: Income tax is based on annual accounting. For most individuals the taxable year is the calendar year – Jan 1 to Dec 31
Policy: Annual accounting is necessary for administrative reasons

Burnet (Commissioner) v. Sanford & Books Co. TP had a loss on operations under a gov K (loss in 3 years, but profit in 1), the aggregate result was a net loss of $176k. In 1920 later TP recovered $176k in lawsuit related to that gov k plus interest. TP argued no tax due b/c the transaction as a whole had generated no profit overall

SCOTUS held that TP’s income and loss must be determined separately for each year. Even if the net result of income over a time period might be a loss, that does not relieve a TP from tax for each year. So the $176k recovery in 1920 was income to the TP

Shows the harshness of the annual accounting rule.

§172: intends to ameliorate the harsh events caused by the annual accounting period on facts similar to Sanford & Books.
§172(a) and (b)(1): a net operating loss suffered in any year can be carried forward to future years and used to offset up to 80% of the TP’s income in each future year

NOL: The TP’s business deductions exceed the TP’s business incomer, per §172(c)

If TP has a NOL< for a taxable year, the TP can carry the NOL forward to offset future income, reducing the TP’s tax liability in profitable future years.

NOL’s incurred in 2018-2020 may be carried back five years. For carryforward years after 2020, NOL utilization is limited to 80% of the TP’s income for that carryforward year

Loss is applied against income recognized during Y1 and loss left over is applied against income recognized during the following year and so on

Ex: Y1 Net operating loss (NOL) of $100,000, but earn $90,000 in Y2

Step 1: apply Y1 loss against 80% of Y2 income of $90,000 = $72,000. The company reduced year 2 income is now (90k-72k = $18k). The remaining $28k of year 1 NOL (the Y1 loss of 100k -72k loss utilized in Y2) would carry forward to year 3

Example: Sanford & Brooks Assume Treat 1913 as 2018, 1915 as 2020, 1916 as 2021, and 1920 as 2025. Assume the TP had no other income or losses in other years and pays tax on its income at a flat 20% rate.
The TP can carry back the 2018 and 2020 NOLs five years, but facts indicate TP had no income in years before 2018. Thus, TP can carry forward $176k of losses (sum of losses from 2018, 2020, and 2021) to 2025. Although the TP must include the $176k recovery in its 2025 GI, the TP can deduct 80% of that income (80% *$176k = $140,800). The 2025 NOL deduction reduces the TP’s income to $35k. Taxed at 20% TP now owes $7,040 of tax in 2025

12) Claim of Right Doctrine

Overview

Claim of right doctrine: 

If 2 TP claim ownership over the same stream of income, the TP who has possession of the income is taxed on the income despite the dispute
The claim of right doctrine is based on the concept of an annual accounting period for the reporting of income, under which income must be determined at the close of the taxable year without regard to possible subsequent events
N. American Oil v. Burnet (C.): if a TP receives $ w/o restrictions, but there is a chance that the TP may have to return the $ in the future, the TP includes the $ received in the year in which the TP receives it.

This doctrine applies even if the taxpayer’s belief in the right to the income is erroneous or mistaken. However, if he realizes the mistake and renounces the right to the income in the year of the receipt, he does not need to include it.

If he is required to include the income in a later year, the taxpayer claims a deduction in the later year, but the payment must be deductible under some IRC section (typically section 162 (business deduction) or section 165 (losses)). 

Example: An employer accidentally pays $20,000 in commissions rather than $15,000 to an employee in Year 1. In Year 2, the employee discovers the error and he repays the $5,000 to employer. There is a $5,000 deduction for employee in Year 2.
Effect of Doctrine: The effect of the doctrine is to determine that an item of income must be included in a particular year. If adjustments need to be made later because the taxpayer does not ultimately keep the income, the taxpayer may not go back and amend the original return, but must instead take the adjustment, even if the result is worse than if he had not included the income in the first place.

Impact of Doctrine: The impact of the claim of right doctrine in a particular case depends on the individual circumstances of the taxpayer. It depends on the taxpayer's marginal income tax rates in the years in issue, the availability of losses to offset the income, and the time at which the statute of limitations expires with respect to each year in issue.

When Doctrine Applies: All 3 of the following must be present for the doctrine to apply.

The taxpayer must be in receipt of income.

Income cannot be a loan or a deposit. In fact, cash method taxpayers must actually or constructively receive income. For accrual method taxpayers, they must reasonably expect to receive it.
The taxpayer must receive the income under a claim of right.

The TP treats the funds as its own money; and
Income must be included if received under a claim of right, even if the taxpayer’s claim is wrongful. 
Examples: Amounts received in violation of law (embezzlement), smuggling income, breach of fiduciary duty, breach of contract.
Exception: if TP gets errouneous amount of money and notifies payor, he is not receiving income under a claim of right and doesn’t need to include it in income 
The taxpayer must treat the income as belonging to the taxpayer, rather than as amounts held for the benefit of someone else. 

For instance, holding customer overpayments as a credit balance for the customer and as liabilities of the TP would not be income received under a claim of right.

Claim of right often applies when there is a dispute over whether a taxpayer is entitled to keep the money, but the taxpayer does not treat the funds as though they are disputed (does not put them in escrow, set them aside in reserve, etc).

Discharged employee must include in gross income, at the time of discharge, the value of stock that vests when the employment terminates without fault, even if the employee and employer disagree on the employee's fault.

Contractor required to include income received under construction contract, even though pending lawsuit w/ homeowner made it uncertain whether he could keep it.

If the taxpayer agrees not to claim income, the claim of right doctrine does not apply, even if the agreement is unenforceable.

Note that the claim of right doctrine applies even if the taxpayer has claimed the income due to a mistake, as long as the taxpayer's claim is bona fide and exists at the time of receipt.

Employee receives a 50,000 bonus based on company’s profits thru Q3 in Nov. 2013. In Jan. 2014, company’s accountants discovered that its profits were miscalculated and that Employee should have received only $35,000.The claim of right doctrine applies even though S's claim to the additional 15,000 was mistaken, because his claim was bona fide. S has 50,000 of gross income in 2013 from the profit-sharing arrangement
Bona Fide Claim: If a taxpayer immediately renounces receipt of income to refute “claim of right,” there is no income inclusion. Note that renouncement must generally occur in same taxable year. Further, a promise to repay, with no evidence of it being bona fide, and no later repayment, will not be enough to refute application of claim of right.

Also, there is no claim of right if a taxpayer receives funds as the agent of or on behalf of someone else, or as a conduit. (i.e., managing partner for partnership, credit card company collecting funds on behalf of merchant, etc.)

There must not be any restrictions on the taxpayer's economic use of the income.

If a TP does not have unrestricted access to the funds ( claim of right doctrine won’t apply.

Ex: If TP places the money in a bank account over which he does not have unilateral control OR a public utility who is allowed rate increases under a regulatory order, but must hold the funds and refund them to customers in later years, they would not have to take the amounts into income.

Contingent Obligation to Repay: A contingent obligation to pay is not enough to preclude application of claim of right.

Ex: a lawyer receiving a legal fee, but agreeing to return some portion if the litigation is unsuccessful - he must include the full amount in income. Another example is if the taxpayer receives commissions from his employer but agrees to repay them if it turns out they are not approved by the board of directors.

Claim of Right Rules Regarding Repayment in a Later Year

If a TP is required to repay the funds in a later year, he is entitled to a deduction or a credit

Repayment needs to be actual repayment of the amount previously received - not a note or promise to pay.

However, an accrual basis taxpayer can take the deduction when the all events test is met, even if the funds have not yet been “repaid.” The taxpayer needs to be required to repay (because he is not entitled to keep the money), rather than just choosing to make repayment.

Deduction: must be an allowable deduction under IRC (i.e. either §162 or §165(c)(2) a non-business loss

Exam tip: Characterization: The character of the deduction in the later year relates back to the character of the income inclusion. (Arrowsmith)
If initial amount was included as capital gain, the repayment would have to be deducted as a capital loss, since it relates back to the original payment

They must take a deduction or loss, rather than amending the prior year return (even if SOL is open) b/c the prior year return was not incorrect based on facts at the time. Also, one cannot amend a return based on subsequent events. This is true even if the TP is left worse off by taking deductions/loss in later year

13) Section 1341

Overview

What is §1341

Because the deduction in the year of repayment of an item previously included in gross income under the claim of right doctrine might not provide as much a reduction in tax liability as the tax generated by the previous income inclusion, Congress enacted Section 1341 in order to mitigate that effect. 

Under Section 1341, taxpayers are permitted to forgo the deduction in the year of repayment so that they can reduce tax liability for that year by the amount of tax liability generated by the previous inclusion.

If §1341 applies, it provides that the TP may choose between:

Deducting the amount repaid in the year in which it is repaid, or

Reducing his tax liability in the year in which it is repaid by the tax that would have been saved in the year in which the income was included had the income not been included.
AKA gives the TP a credit

U.S. v. Lewis: A TP reported her EE bonus in GI and paid income tax accordingly, 2 years later it was determined that the bonus which she received 2 years earlier was improperly computed and the TP returned half of her bonus to the ER. Court held the TP could not recompute her income tax liability for 2 years ago, but she could take a deduction in the amount of money she returned to her ER this year

A TP cannot amend his return for the year of inclusion b/c the return was correct at the time it was filed

§1341 does not provide for reopening the earlier year’s tax return or for filing an amended return. It directs a tax decrease, in effect a tax credit, against the current year’s tax liability in the amount equal to the added tax occasioned by the prior year’s inclusion in income

Note: §1341 doesn’t take into account time value of money so §1341 it’s an error correction device, but it’s not perfect and doesn’t’ make the TP whole
§1341 Requirements

The TP included an item in GI for a prior year because it appeared that the TP had an unrestricted right to such item;
Exam tip: need apparent right to income in the earlier year rather than absolute right
In a later year, the TP is entitled to a deduction

A deduction is allowable for the taxable year because it was established after the close of the prior taxable year of inclusion that the TP did not have an unrestricted right to all or a portion of the item; and
(The taxpayer must have some right to the income but need not have an unchallengeable right in the year of inclusion.)
The amount of the deduction exceeds $3,000.

When does §1341 NOT apply

To embezzled income, ill gotten gains, or amounts received by fraud

Section 1341 does not apply if the taxpayer included the income under an absolute right and makes the repayment for reasons other than a determination that no right existed
. 

It does not apply if the repayment arises because of a repayment liability that arises from a subsequent event. In that case the taxpayer would be limited to taking a deduction to “unwind” the income inclusion.

Taxpayer receives a 100,000 signing bonus for agreeing to come to work for Employer in 2015. He includes this amount in income in 2015. He breaches his employment contract in 2016, and is required by contract to return 50,000 of the signing bonus. He cannot use section 1341 because the repayment liability arose because of a subsequent event
§1341 Analytic Framework
Step 1: Calculate tax owed in year of inclusion, both with income inclusion and without income inclusion and figure out the difference in tax

Step 2: Compute the tax for the year of deduction, both with and without using the deduction

Step 3: TP uses 1341 as a tax credit in the amount of the tax savings from leaving the item out in the year of inclusion against the tax due in the year of deduction, rather than actually using the deduction

HYPO: C received salary of $400,000 from X Corp. in 2012 and included it in gross income. C's tax liability for 2012, taking into account other income and deductions, was $150,000. In 2013, X Corp.’s accountants determined that C's department generated a loss in 2012 and C repaid $100,000 of his 2012 salary in 2014 under a provision in his employment contract that reduces his salary if his department generates a loss. C's tax liability for 2012, ignoring the $100,000 inclusion, would have been $122,000. C's tax liability for 2014, ignoring the $100,000 deduction, is $180,000. 
Step 1: Tax owed in year of inclusion w/ income inclusion = $150,000. Tax owed in year of inclusion without income inclusion = $122,000.

Thus the decrease in 2012 tax liability resulting from the exclusion of the $100k would be $150k - $122k = $28k

Step 2: Tax for year of deduction w/ deduction is $180,000

Step 3: Tax liability for 2014 under §1341 is $180k- $28k = $152k

§1341 Analytic Framework - old
Step 1: The amount returned in a later year – what was the tax paid on that amount in Y1

Step 2: The amount returned in a later year – what would the tax paid on that amount be in Y2

Step 3: If the tax amount of inclusion in year 1 > Tax amount of inclusion in year 2 then direct the TP to forego the deduction and instead take a credit to reduce tax liability

Step 4: if the tax amount of inclusion in year 1 < tax amount of inclusion in year 2 then direct TP to take a deduction

Ex: Y1: TP with tax rate of 25% properly included $10k in income received under claim of right. In Y3 TP is required to repay the $10k, when TP is in the 30% tax bracket.

Tax cost of inclusion in Y1 = $2,500 (10k * 25%). In Y3 the deduction is $3,000 (10k * 30%) The deduction is worth more than the tax cost of the original inclusion. §1341(a) directs the TP to deduct the repayment

Ex: Same as Ex 1, but now TP is in 20% tax bracket in Y3

The Y3 deduction is worth 2k (10k * 20%). The TP’s deduction of the 10k in Y3 is now worth less than the cost of including the 10k in Y1. §1341(a) directs the TP to forego the Y3 deduction and instead to decrease (gets a credit) his Y3 tax liability by $2500 – the tax cost of the Y1 inclusion (the tax cost of the $ amount we returned – not total tax cost that year)

14) Tax Benefit Rule

Overview

Tax Benefit Rule

Inclusionary Tax Benefit Rule: if a TP deducts an item, but later recovers the deducted item, the amount recovered must be included in income to the extent the prior deduction resulted in a tax benefit

Note: If the expense in the earlier year generated a credit rather than a deduction, the taxpayer must only include the amount of the credit in the year of recovery, not the full amount of the expense.

He may not choose to amend the original return instead. 

The logic of the tax benefit rule is that recovery of an item deducted in an earlier year should trigger a current income inclusion

HYPO: A taxpayer pays $12,000 in property taxes in Year 1 and deducts $10,000 which is the maximum amount deductible. In Year 2, he gets a $3,000 refund of the Year 1 taxes. Under the tax benefit doctrine he must include $1,000 in income in Year 2
Requires the TP to include an item in income (the inclusionary tax benefit rule)

Triggers an inclusion whenever an event occurs that is fundamentally inconsistent with a tax benefit recognized in an earlier year (Hillsboro Nat’l Bank v. C)

Ex: TP donates 10k to a college in year 1 and deducts the charitable contribution. The college gives up operations in Y2 and returns the 10k to the TP. The TP’s receipt of the 10k in Y2 is inconsistent with the charitable donation taken by the TP in Y1. Thus the TP must “give back” the Y1 deduction by including 10k of income in Y2

HYPO: Two years ago Joan’s Bike and Ski Shop hired Eldon to paint murals of a skier and a mountain biker on the exterior walls of the shop. When Eldon completed the work, Joan’s Bike and Ski gave him a check for $5,000 dated October 31, which bore the legend “void if not cashed within 90 days.” Joan’s Bike and Ski Shop properly deducted the $5,000 as a business expense under § 162. Eldon has never cashed the check despite the lapse of over a year, and the bank will no longer honor the check. Eldon’s telephone has been disconnected, and he is no longer listed in the city directory or with the Chamber of Commerce. Must Joan’s Bike Shop include the $5?

The question here is whether Eldon’s failure to cash the check (and his inability to do so now given that 90 days have elapsed) together with his disappearance amount to an “event” that is inconsistent with, and therefore requires a reversal of, the deduction under Hillsboro National Bank. Because the deduction was proper when taken, this situation does not raise the Streckfus question regarding whether the tax benefit rule applies to erroneous prior deductions. The more conservative and theoretically correct approach would be for Joan to include the previously deducted $5,000 in gross income because the lapse of the 90-day period for cashing the check, and Eldon’s disappearance, constitute an event that restores the money to Joan and is therefore inconsistent with the prior deduction.

"Exclusionary Tax Benefit Rule.” If a deduction in a prior year did not produce any tax benefit to the TP, then the subsequent recovery of the deducted item does not trigger an income inclusion
§111(a) permits a TP to exclude the recovered item in the later year to the extent that it did not reduce the TP’s tax liability in the earlier year

If the charitable contribution did not reduce the TP’s tax liability in Y1, she may exclude the 10k in Y2. Ex: a charitable contribution would not reduce an individual’s Tax liability if the TP had no taxable income in the year in which the deduction would have been taken

Ex: In Y1, J itemized his deductions in computing taxable income; his itemized deductions exceeded his standard deduction for Year One by $300. In Y2, J received a refund of $250 of state income taxes for which a deduction had been taken in Year One. None of the state income tax refund may be excluded from J gross income in Year Two. Alternatively, if the amount of state income taxes deducted in Year One and refunded in Year Two was $500, $200 would be excluded from gross income in Year Two because that amount did not reduce his income tax liability for Year One
HYPO: In 2015, Taxpayer paid $1000 in state income taxes. In preparing his federal return, however, Taxpayer determined that he had only $2,500 in itemized deductions, so he claimed the standard deduction. In 2017, Taxpayer received a $375 refund of the state income taxes paid in 2015.

The $375 refund is excluded from Taxpayer's gross income because his federal income tax liability for 2015 was not reduced on account of the state income tax deduction since TP took standard deduction and didn’t have any itemized deductions.
Tax Benefit Rule and Credits

§111(b): Under the tax benefit rule, if a taxpayer obtains a recovery or refund of an amount that justified a credit in a prior tax year, the taxpayer's tax liability increases in the year of recovery by the amount of the credit, except to the extent the credit did not reduce tax liability in the prior tax year.

HYPO: In 2015, Taxpayer paid $5,000 in dependent care expenses for which a $1,000 income tax credit was allowed. Since Taxpayer’s tax liability was only $500, he only used $500 of the credit. In 2017, Taxpayer received a refund of $1000 of the child care expenses paid in 2013. The $200 credit attributable to that $1000 did not reduce Taxpayer’s income tax liability for 2015, so the $200 credit attributable to the $1000 refund is not added to Taxpayer's income tax liability for 2017. 
Note: The $1000 refund is also not included in 2017 income.
Cannot Choose to Amend a Tax Return

The taxpayer cannot choose to amend the income tax return for the prior tax year to eliminate the deduction rather than including the item in gross income for the year of recovery. Amending the return would be improper, as it was correct at the time of filing.
Example: Taxpayer deducted $20,000 in state income taxes in 2015. The $20,000 deduction reduced Taxpayer’s income tax liability by $5,000. In 2017, Taxpayer received a refund of the $20,000 state tax. Taxpayer must include the $20,000 in gross income for 2017. 
Assume tax rates increased, so that this inclusion increases Taxpayer’s income tax liability by $6,800. Taxpayer is not allowed to amend its income tax return for 2015, which would increase its income tax liability by $5,000, and would avoid the $6,800 income tax liability increase in 2017.

Malpractice and Professional Errors

Rev. Rul. 57-47: The tax benefit doctrine applies to fees paid to professional advisors and deducted in prior tax years, and then later recovered because the advisors' errors generated a tax benefit subsequently disallowed by the IRS. However, the tax benefit doctrine does not apply when a taxpayer recovers excess taxes that he paid due to a tax advisor’s error.

Depreciation Deductions

Treas. Reg. §1.111: The tax benefit doctrine does not apply to recoveries on account of deductions in prior tax years for depreciation, depletion, amortization, because depreciation recapture applies and such deductions are reflected in basis.

P Corp. purchased equipment at a cost of $200,000 for use in its business. During the years 2004–2012, P properly deducted depreciation with respect to the equipment. By 2012 the equipment was fully depreciated. In each of the years 2004 through 2012, the depreciation deduction reduced P's income tax liability. In 2014, P sold the equipment for $50,000. The $50,000 is not included in P's gross income under the tax benefit doctrine. Instead, it is included in gross income as gain from the sale of property and is characterized under the depreciation recapture rules.

Miscellaneous Rules

Tax Benefit Doctrine

PLR 200814019: The tax benefit doctrine does not apply if the taxpayer's recovery occurs in the same year as the transaction justifying the deduction. Instead, the recovery and the deduction are netted; any excess recovery is included in gross income and any excess deduction is deducted.

Rev. rul. 74-35: The taxpayer cannot use the tax benefit doctrine to avoid including items in income in the wrong year, on the grounds that they would not have generated any tax if they had been included in the proper year. For example, if the taxpayer had included the item in the proper year, he could have used an expiring NOL to offset it.

Deduction Improperly Claimed in Prior Year

It is unclear whether the tax benefit doctrine applies if the taxpayer recovers amounts for which he improperly claimed a deduction in an earlier year.

Some authorities state that the deduction must have been properly claimed for the tax benefit doctrine to apply. However, even if the tax benefit doctrine does not apply, the duty of consistency would probably require including the recovery in income.

Item Recovered in Later Year

A recovery that triggers application of the tax benefit doctrine occurs when the taxpayer receives an amount in respect of an item deducted in a prior tax year.

The recovery must be directly related to the item that is deducted. It does not matter why the taxpayer receives the recovery or if it is not the taxpayer’s “own fault”.

15) Statutory Mitigation

Overview

Mitigation rules

Mitigation rules are put in place to prevent double income inclusions or double deductions, based on situations where the statute of limitations impact the ability to make an adjustment in a prior year to make the situation more fair by avoiding a double income inclusion or double deduction.
The statutory mitigation rules allow the taxpayer or the IRS to open a taxable year that is closed by the statute of limitations to avoid double income inclusion or a double deduction.
Mitigation requirements

There is a “determination” that some prior treatment is erroneous;

The “determination” falls within one of the circumstances of adjustment described in section 1312;

On the date of the determination, correction of the error is prevented by the operation of any law or rule of law;

The party against whom the mitigation provisions are being invoked has maintained a position inconsistent with the challenged erroneous inclusion, exclusion, recognition or non-recognition of income

An accrual method taxpayer claims a deduction for leased trucks when he signs a two year lease contract in 2010. The lease is for 2011 and 2012. The taxpayer realizes he should not have deducted the payments until 2011 and 2012 under the economic performance rules, and claims the deductions in those years again. Once the IRS discovers this on audit, the 2010 year is closed.

May the IRS open 2010 to disallow the deduction in that year?

No b/c it doesn’t meet mitigation reqs b/c although the TP took an inconsistent position, there was no “determination.”

§1311

§1311: if a determination to tax is made and the determination would result in: a double income inclusion or double decution, or a double income exclusion or double deduction disallowance, and the error cannot otherwise be corrected due to an earlier year being closed by the statute of limitations, an adjustment will be allowed to correct the error

In order for the adjustment to be permitted, the party who is having the adjustment asserted against them must have taken an inconsistent position in a prior year.

HYPO: Taxpayer claimed a deduction for an equipment lease in Year 1 when the contract was signed. Later, in Year 4, taxpayer realized he should have deducted the lease expense in Year 4 as the equipment was used, instead. The IRS challenges the Year 4 deduction and the taxpayer wins in court and keeps the Year 4 deduction. The IRS is entitled to make an adjustment to “unwind” the Year 1 deduction, even though the statute of limitations is closed for Year 1.
�ask prof to review this provision





Answer: if you are AM TP and you have clients that will you on account, like IT services company, you send technicians out to do IT services and you bill clients. If you are AM you should record revenue when you perform services b/c all events test met and since not CM you don’t wait until paid. So when you do services you send them a bill and that’s receivable – but for tax purposes the transactions is over. We are done, but what happens is if you send client a bill for $10k and they never pay it. So if they never pay we need to give you a way to unwind that income and we do that w/ bad debt decuction – someone owed me money and I don’t collect it so I get deduction


So that makes sense b/c we recorded revenue thinking we would get the money but we didn’t so we take a deduction


For bad debt deduction – we need Identifiable event that won’t get revenue -  


If you are AM TP – when you look at receivable and I never collect 100%, I only collect 90% b/c always accrue 90% - but tax rules says too bad – unless 448d5 applies 


�review self check B week 2 question 5 – why is it when the pool is installed and not when sale takes place


answer – getting paid for services now – basically spai is $6,800


answer – you don’t wait until they service the pool b/c they get money now and it’s a prepayment 


if they signed a sale K andthey weren’t entitled to have any of that $ until pool is installed – ex: signed K in sept – but not building spa until next year so then when do you get prepayment –


when sale takes place – we signed this k


but really to prof it’s when the payment is made is to think of it – which then makes it a prepayment


sales K isn’t enough b/c no all events test or payment 


�review difference b/w 451(c)(1)(B) and rev proc 2004-34


answer: no difference – but rev proc 2004-34 from 2004-2018 that was what applied – we read rev proc 


TCJA basically codified rev. proc 2004-34 in 451 so they essentially taking whole thing and applying it now 


�ask prof – page 1016 of book says yes goods are included by rev. proc





answer: payment for goods are not – only in weird situation if goods ancillary to services


451 is broad provision but 451c1b is services not goods


But reg sec that deals w/ advance payments of goods 1.451-5


�what’s an example of “more”?


answer: establish fact of liability is when on hook – so it’s deduction for 


but economic performance requirement is more 


just fact that you contract yourself to pay a liability is not gonna be enough for you to go ahead and take a deduction





this rev ruling – if didn’t actually provide the thing he wouldn’t really have to pay just b/c signed K – something more has to happen than just signing the K – really need all events that establish 


�this is what I was missing in my notes


even at end it might be repayment of principal and QSI 


�Review installment obligation and QSI


Answer: IO essentially – has periodic payment than just 1 lump sum payment at end – aka payment of principle throughout loan


QSI only means that we have cash paid interest at least annually at fixed rate


So X amount paid back and of that set payment some portion of that is interest and some is principal – and that’s IO b/c has principal but also QSI 


SRPM – all amounts to be paid other than QSI


So if 


�Review when this 483 interest is paid if not spreading It over period of loan like oid


Answer: Ex I sell you stock in business and I say you can buy the stock for $150k and you can pay me in 5 years but we say nothing about interest. We are suspicious and say what was the true selling price of stock and how much of that is hidden interest. So we get IP and apply afr – really we think it’s $130k and thus $20k of interest. Now when you repay me the $150k we say $20k  of that was interest and we only report it as interest when you pay me assuming I’m a CM tp – so just recharacterizing amount realized as interest 


That changes the character. Interest income is ordinary income not capital gain income –


So it’s $20k of interest you pay at end 





�Isn’t this a CRDL? Why does b apply and not a


Answer: if it has a term and doesn’t say when has to  - it’s supposed to say to be paid in 5 year time


b/c it’s a term loan that’s 7872


�Aks prof what “normal rules” are – self-check D week 6


Answer: normal tax rate schedule – prof meant normal rules to mean is that 1341 applies to payment and they save $350k in taxes but rather than going back and computing it as credit w/ y2 amount – they want you to take deduction in y8 rates


1341 basically says you can have which ever way works best – can say you can deduct in y8 and since y8 is 35% we would rather deduct


So instead of deducting in y8 -you could take a credit how much 





Should compute its taxes by taking the decution in Y8 rates  instread of calculating as credit under Y2 rate 


And you want deduction in y8 if tax rate was lower


�Ask prof why baseball hypo she said sec.1341 didn’t apply


Prof: don’t worry a ton about absolute right v. apparent right 


Just know that it flows on whether actual right v. apparent – and if you have this situation you will want to look it up and look at authority 


Under the rules in place at time he was paid – he had a right to the $ and it was only b/c something happened after year ended that he had to repay


And 1341 only applies if we had a situation where under the rules in place it appeared that we had a right but it turned out that this was a mistaken belief


Think about it more of mistake of fact – but this is very difficult – but she won’t test us on this 


Apparent right – based on what we know at time it looks like it but we were mistaken


Prof – baseball player can still take deduction in y2 but won’t get benefit of 1341 to see if made whole


1341 says if not made whole you can take a credit 


In example where baseball changes rule – he can take deduction but if rates changes that would be too bad for him b/c he has no option for credit





